------------------------------------------------------------

DATE OF TEST : 6 th july 2003, Morning

# 1.  6 poets, liking and disliking of poetry.E.g.: All who like the poetry of Frost do not like the poetry of Coolidge. Some who like the poetry of Dunne like the poetry of Earl. 

4 related questions are given on these conditions.  

# 2. 4 people, 4 products. E.g.: Vickie will not get a tie unless George buys a scarf.

Remmie will not get a hat unless Jack buys gloves. Around 12 statements like this. 

Who will buy what? 

# 3.13 kigs and 6 libs can produce 510 tors in 10 hrs,8 kigs and 14 libs can produce 484 tors in 12 hrs.Find the rate of production of tors for kigs and libs.Express the answer in tors/hr. 

# 4. Find the 3 digit no. whose last digit is the squareroot of the first digit and second digit is the sum of the other two digits.  

# 5. Meera was playing with her brother using 55 blocks.She gets bored playing and starts arranging the blocks such that the no. of blocks in each row is one less

than that in the lower row. Find how many were therein the bottom most row?

# 6. Rahul took part in a cycling game with many othersin a circular closed circuit. After pedaling for several minutes, he found that 1/5th of the cyclists ahead of him and 5/6th of the cyclists behind him together formed the total no. of participants. How many were participating in the race?

# 7. Age sum involving 3 people. Similar to sum no. 127 in Shakuntala Devi but very much tougher than that sum.

# 8. Tom wants to catch a hare. He is standing 250 yardssouth from the hare. The hare starts moving due east.  Tom, instead of moving in the northeast direction, moves in such a way that at every instant, he is going towards the hare. If speed of tom is one and one-third times that of the hare, find the distance each traveled before he caught the hare.

# 9. Two people are playing with a pair of dies. Instead of numbers, the dies have different colors on their sides. The first person wins if the same color appears on both the dies and the second person wins if the colors are different. The odds of their winning are

equal. If the first dice has 5 red sides and 1 blue side, find the color(s) on the second one.

# 10. A company's director said during the board meeting: " The company's income from roads will be sufficient to pay 6% of the entire stock issue, but since we are paying 7.5% interest on the preferred stock of Rs.4, 000,000 we are able to pay only 5% of the common stock". Find the value of the common stock.

__________________________________________________________________

DATE OF TEST : 6 th july 2003, Afternoon

# 1.A car is traveling at a uniform speed. The driver sees a milestone showing a 2-digit number. After traveling for an hour the driver sees anothermilestone with the same digits in reverse order. After another hour the driver sees another milestone containing the same two digits with a zero in between(0). What is the average speed of the driver.

Ans:45 kmph                                

# 2. Mr. ANYMAN left ANYTOWN by car to attend a wedding at ANYCITY. He had been driving for exactly two hours when the car got punctured. It took his driver exactly

ten minutes to change the wheel. In order to play safe they covered the remaining distance at a speed of 30 mph. consequently, Mr. ANYMAN was at wedding half an-

hour behind schedule. Had the car got the puncture only 30 miles later , I would have been only FIFTEEN minutes late he told the driver . How Far is ANYCITY from ANYTOWN.

Ans: 120 miles

# 3. There are three persons A,B,C. one day they set out in different directions and each one steals an animal. The animals are camel, horse and a mule though not in the order. A CBI officer catches them and on interrogation he has the following statements:

A says: B has stolen a horse

C says: A is telling wrong, B has stolen a mule.

B says: A and C are both telling wrong. I have stolen nothing.

The person stealing a camel tells wrong while the person with a horse tells right. So tell which person steal which animal.   

Ans: A: Camel   

         B: Mule   

         c: Horse

# 4. There are 3 societies A, B, C.   A Lent Tractors to B and C as many as they had already. After some time B gave as many tractors to A and C as many as they have.  After sometime C did the same thing. At the end of this transaction each one of them had 24. Find the cars each originally had.  This question was bit differently asked  with the same thing.

Ans: A had 39 cars, 

         B had 21 cars 

        C had 12 cars     

# 5. Alpha, Beta , gamma, delta and epsilon are friends and have birthdays on consecutive days though may not be in order. Gamma is as many days old to Alpha  as

Beta is younger to Epsilon. Delta is two days older then Epsilon. Gamma’s Birthday is on Wednesday. Tell whose birthday is when.

Ans:  Alpha:   Friday   

Beta :   Saturday   

Gamma:   Wednesday   

Delta:   Tuesday 

Epsilon: Thursday

# 6. The quarter of the time from midnight to present time added to the half of the time from the present to midnight gives the present time. What is the present  time?                          

Ans: 9hrs past 36 minutes AM

# 7. A girl was on a vacation when she happened to notice a snake. The snake was either black, brown or yellow in colour and 35, 45 or 55 m long. She makes

the following remarks:

Don’t remember exactly but the answer I wrote was 55 m and brown colour snake.

The remaining two questions were logical and lengthy .I could not get time. Anyways one was relating to six persons are from six places and professions are given. 

u have to match each person along with the profession  and his place.

__________

DATE OF TEST : 11 th May 2003

ENGLISH SECTION:

# 1. A Couple decided to travel a north country side .so they decide to travel a minimum amount on car the first day and the second and sbsequent day a distance of 20 miles .If they travel a total amount of 1080 miles.Find he distance travlled on the  4th day and the 9 day.

# 2. A card boarb of 34 * 14 has to be attached to a wooden box and a totalof 35 pins are to be used on the each side of the cardbox.Find the total number of pins used .

# 3.During a Pizza buffet where A eats more times 2.4 than B, and B eats 6 times less than C.find the leat number of times all the three has to eat.

# 4.Last Year mu cousin came to my place and we played a game where the loosing one has to give one choclate to the person who won the game .At the end of the vacation,i.e the day my cousin was leaving she counted number of games that i won an she won.At last she gave me a total of 8 choclates even though she won about 12 games.Find the mumber of games that we played.

# 5. Amir,shahrukh,sunil and salman were quarelling among them saying ecan ones daughter madhuri,rani,junhi.manisha is more beautiful than other .so they decide to have a poll. each one has 5 votes to be distributed among the 4 and highest vote that can be given is 3 and the of votes are different from rest(if salman gives votes like 2,2,1.0 ,this cant repeat with others).

The other restrictions are :

salman decided that it will be prudence to share equal marks between all the freinds daughters. 

sunil gives Highest vote to his daughter rani.

amir gives equal marks to Manisha and juhi.

shahrukh doesnt give any marks to his daughter as he thinks his daughter is haughty enough for other to vote .

Give the votes poled by others to Madhuri.

---------------------------------------------------

DATE OF TEST : 06 th Jul 2003

# 1. Professor Kittredge’s literature seminar includes students with varied tastes in poetry.All those in the seminar who enjoy the poetry of browing also enjoy the poetry of eliot.Those who enjoy the poetry of eliot despise the poetry of coleridge. 

Some of those who enjoy the poetry of eliot also enjoy the poetry of Auden.

All of those who enjoy the poetry of Coleridge also enjoy the poetry of Donne.

Some of those who enjoy the poetry of Auden also despise the poetry of Coleridge.

All of those who enjoy the poetry of Donne also enjoy the poetry of Frost.

i. Miss Garfield enjoys the poetry of Donne.Which of the following must be true?

(A)
she may or may not enjoy the poetry of coleridge.

(B)
She does not enjoy the poetry of Browing.

(C)
She does not enjoy the poetry of eliot.

(D)
She enjoys the poetry of Coleridge.

ii. Mr.Huxtable enjoys the poetry of Browing.He may also enjoy any of the following 

poets except

(A)
Auden.

(B)
Coleridge

(C)
Donne

(D)
Eliot

(E)
Frost

iii.Miss Inaguchi enjoys the poetry of Coleridge.Which of the following must be false?

(A)
she does not enjoy the poetry of Auden.

(B)
She enjoys the poetry of Donne.

(C)
She enjoys the poetry of Frost.

(D)
She does not enjoy the poetry of Browning.

(E)
She may enjoy the poetry of Eliot.

iv.Based on the information provided,which of the following statements concerning 

the members of the seminar must be true?

(A)
All the those who enjoy the poetry of eliot also enjoy the poetry of Browning.

(B)
None of those who despise the poetry of Frost enjoy the poetry of Auden.

(C)
Some of those who enjoy the poetry of Auden despise the poetry of Coleridge.

(D)
None of those who enjoy the poetry of Browning despise the poetry of Donne.

(E)
Some of those who enjoys the poetry of Frost despise the poetry of Donne.  

(8 Marks)

# 2. 

a.Rimmie wears a hat only if goerge wears a tie.

b.George wears a scarf only if Johnie wears a tie.

c.Vickie wears a googles only if Rimmie wears a hat.

d,e,f,g,h

some what like this there are 8 statements,from that we have to determine who wears what.            (8 marks)

# 3.  8 Kigs and 14 Ligs can do 510 tors of work in10days. 13 Kigs and 6 Ligs  can do 484 tors of work in 12 days. Then find work done by Kigs and Ligs individually in tors/hr?         (5Marks)

# 4.  There is a 3 digited number. 3rd number is the square root of the 1st digit. 2nd digit is the sum of 1st and 3rd.And that number is divisible by 2,3,6,7. What is that number?

(3 marks)

# 5.  A boy is playing a game. He took totally 55 blocks and kept like placing some x number  on the ground,next one less than that  above those blocks like that till the topmost one is one,like:


x

           x x

         x x x

       x x x x                   

      x x x x x 

    x x x x x x

   x x x x x x x

  x x x x x x x x 

 x x x x x x x x x

x x x x x x x x x x

(They didn’t gave this pictuire,but my explanation is not clear,that’s I gave u this picture)

the question is how many blocks are there at the base level? (4marks)

# 6. A cyclist is cycling in a circular path.he is at some point on the path,at that point 1/5th of the cyclists infront of him and 5/6th back to him gives the total number of clyclists participating in the race. What is the total number of cyclists?  (5 marks)

# 7. Regarding ages he gave 6-7some what confusing statements regarding 3 people’s age.but time time is not sufficient ,so didn’t read that question. (5 Marks)

# 8. A boy is at 250yards south to the hare.the hare is running towards east.Instead of going in North-east direction .if the follows the hare with 1 and 1/3rd (1+1/3)the speed of hare,what is the total distance travelled by him to overcome the hare? And what is the distance traveled by hare before the boy overcomes it? (6 Marks)

# 9. There are two dice painted on their sides.A and B are playing with those dice.A will win if  the colour on the two faces of dice is same and b wins if color is different.

First die is painted 5faces with red and 1 with blue.how is second die painted, if their chances of winning the game is even. (6 Marks)

# 10. A manager declared like this in the meeting. Normally we give 6% interest on common stock,but the total income this time is Rs 400000 with 7 1/2 interest, we are giving only 5%interest on common stock. What is the worth of Comon stock? (5marks)

----------------------------------------------

DATE OF TEST : 23 Aug 2003

1.A alone can do a work in 6 days B alone can do in 8 days with help of c they finished the work  in 3 days.If the agreed sum is 640 what is th share of c.(refer r.s agarwal

2.A drives a car four times a lap 10,20 30,60  kmph what is the average speed.

3.speed of boat in still water 10 km,if speed up stream is 24 km and speed down stream is 16  what is speed of the river.

4.If grand father age is sum all the three grand childern whos age r in equal interval

        what is the age of the grand father?            (refer r.s agarwal)

5.In a grass field if 40 cow could eat for 40 days.The same grass field can feed 30 cows for  60 days.how long will it feed 20 cows?

-----------------------------------------------------------

DATE OF TEST : 24 Aug 2003

Totally 9 Questions.   - 50 marks.

1)  There is a five digit number. The fifth digit is one fourth of the third digit and

 one half of the fourth digit. Third digit is one half of the first digit.  second digit is 5 more than the fifth digit.  What is that 5 digit no.? 

2) There are three associates and they have some money in a room.  But no one is believing others alone. so,  a) No one should be able to open the room alone.

 b) When any 2 persons are combined they should be able to open the room. What is the minimun no. of locks & keys required.?  (5M)

3)  A simple racing prob. like Samantha beat Jim. Jack lost to Jim. John was not last.

 And the prob goes like this... (simple)  

4) A boy goes to school from his house.on one fourth oh his way to school, he crosses a

 machinery station. And on one third of his way to school, he crosses a Railway station.

 He crossed the machinery station at 7:30 and he crosses the Railway station at 7:35.

 when does he leave the house & when does he reach the school ? (5M)

5) An Eraser,Pencil,Notebook together costs $1.00. Notebook costs more than the cost of 

 2 Pencils. 3 Pencil costs more than 4 Erasers. 3 Erasers costs more than a Notebook.

 How much does a pencil costs? (5M)

6) I can't remember the prob. fully. (* Check this in previous questions. Its there!)

 Old Problem with three inhabitants of three castes. Abhor,Magar & Dravid. (8M)

 1) Abhor women cannot marry Dravid man. 

 2) Dravid women cannot marry Magar man.

 3) Male child gets the father's caste and female child gets the mother's caste.

 4) all other marriages are allowed.

 5) ...

 4 questions related with this...each of 2 marks... like... 

 1) A magar man can have ...

     a) a dravid grandmother. 

   b) a abhor mother.

   c).... 

7) Series... 

 a) 3,6,13,26,33,66, ?

 b) 364, 361, 19, 16, 4, 1, ?

8) A large cube is painted on all sides with Red color. It is then cut into 27 small cubes. 

 How many sides of the cube will have...

 a) 3 red faces.

 b) 2 red faces.

 c) 1 red face.

 d) No red faces. (8M)

9) Four persons A,B,C,D were there. All were of different weights. All Four gave a 

 statement.Among the four statements only the person who is lightest in weight of all 

 others gave a true statement.

 A Says : B is heavier than D.

 B Says : A is heavier than C.

 C Says : I am heavier than D.

 D Says : C is heavier than B.

 Find the lightest & List the persons in ascending order according to their weights. (5M)

-----------------------------------------------------------

DATE OF TEST : 29 Aug 2003 Cochin (Shreds)

 1. A man was travelling to a place 30 miles away from starting point.he was speeding at 60 miles/hr. but when he came back, his car got breakdown and half an hour was wasted in reparing that. altogether he took 1 hr for return journey. Find the avg. speed of the whole journey. 

2.I'M NOT VERY SURE REGARDING THIS QUESTION. 

 A detective was assigned to generate a code using 4 digits, so that no one could break it. he knew that if the code starts with 0,5 or 7 it will  be cracked. so how many numbers can be formed using 4 digits.

3. A cow was standing on a bridge, 5feet away from the middle of the bridge. suddenly a lightning express with 90 miles/hr was coming towards the bridge  from nearest end of the cow.seeeing this the cow ran towards the express and  managed to escape when the train is one feet away from the bridge. if it would  have ran to opposite direction(ie away from train) it would have been hit the train  one ft away from the end of the bridge. Calculate the length of bridge. 

4. there are 3 towns attacked by 3 dragons-x,y,z. Number of days x attack a town is equal to number of days y attacking another town. Number of days x attack is equal to half the square root of number of days z attacking a town.number  of days y attacking the town is twice the square root of z.calculate how much days the curse of each dragon be.

5. 5 Boys and 5 Girls went for a movie. the problem is based on their seating. analytical one and 3 or 5 sub questions were there on this question  simple one.

6. A town have a population of 500000 and 42% of males and 28% of females are 

married to same town. find the total number of males 

7. An analytical one based on 4 persons and their occupation 

8. another analytical one 

9. A and B came back home after their exam and their father asked them about the test.

 A replied-- 1/3rd of my answers were wrong

 B replied-- 5 of my answers were wrong but together we got 3/4 of answers right.

 How many questions were there for the exam?

10. if x,y<0 and z>xy then which condition is false

 4 conditions were given and one condition is wrong. you need to identify that.

1) A man collects cigarette stubs and makes one full cigarette with every 8 stubs.
   If he gets 64 stubs how many full cigarettes can he smoke. 
Ans: 8+1=9
2) A soldier looses his way in a thick jungle. At random he walks from his camp but mathematically in an interesting fashion. First he walks one mile East then half mile to North. Then 1/4 mile to West, then 1/8 mile to South and so on making a loop. 
Finally how far he is from his camp and in which direction. 
Ans: Distance travelled in north and south directions 
        1/2 - 1/8 + 1/32 - 1/128 + 1/512 - and so on 
        = 1/2/((1-(-1/4)) 
       Similarly in east and west directions 
        1- 1/4 + 1/16 - 1/64 + 1/256 - and so on 
        = 1/(( 1- ( - 1/4))              Add both the answers 

3)  How can 1000000000  be written as a product of two factors neither of them containing zeros 
Ans: 2 power 9 x 5 power 9 
4)  Conversation between two mathematcians: 
First : I have three childern. The product of their ages is 36. 
          If you sum their ages, it is exactly same as my neighbour's door number on my left. 
The second mathematician verfies the door number and says that it is not sufficient. 
Then the first says " Ok one more clue is that my youngest is really the youngest". Immmediately the second mathematician answers . 
Can you answer the question asked by the first mathematician? What are the childeren ages? 
Ans 1,6 and 6

5) Light glows for every 13 seconds . How many times did it glow between 1:57:58 and 3:20:47 am.
Ans : 383 + 1 = 384 

6) 500 men are arranged in an array of 10 rows and 50 columns according to theirheights.
     Tallest among each row of all are asked to fall out.
     And the shortest among them is A. 
     Similarly after resuming that to their original podsitions that the shortest among each column are asked to fall out. 
     And the tallest among them is B .
     Now who is taller among A and B ? 
Ans A 
7)  A person with some money spends1/3 for cloths, 1/5 of the remaining for food and 1/4 of the remaining for travel.     He is left with Rs 100/- . 
     How much did he have with him in the begining ? 
Ans: Rs 250/- 

8)  There are six boxes containing 5 , 7 , 14 , 16 , 18 , 29 balls of either red or blue in colour.     Some boxes contain only red balls and others contain only blue.
     One sales man sold one box out of them and then he says " I have the same number of red balls left out as that of blue ".      Which box is the one he solds out ? 
Ans: Total no of balls = 89 and (89-29 /2) = 60/2 = 30 
and also 14 + 16 = 5 + 7 + 18 = 30 

9)  A chain is broken into three pieces of equal lenths containing 3 links each.
     It is taken to a backsmith to join into a single continuous one . 
     How many links are to to be opened to make it ? 
Ans : 2.

10)  Grass in lawn grows equally thick and in a uniform rate   It takes 24 days for 70 cows and 60 days for 30 cows to eat the whole of the grass.How many cows are needed to eat the grass in 96 days.? 
Ans : 20 g - grass at the beginning 
r - rate at which grass grows, per day 
y - rate at which one cow eats grass, per day 
n - no of cows to eat the grass in 96 days
g + 24*r = 70 * 24 * y 
g + 60*r = 30 * 60 * y 
g + 96*r = n * 96 * y 
Solving, n = 20. 

Section B
1.  Replace each letter by a digit.     Each letter must be represented by the same digit and no beginning letter of a word can be 0.
O N E 
O N E
O N E
O N E
-------
T E N                          Ans:  0 =1, N = 8 ,E = 2, T = 7

 2. Ann, Boobie, Cathy and Dave are at their monthly business meeting.   Their occupations are author, biologist, chemist and doctor, but not necessarily in that order.
    Dave just told the biologist that Cathy was on her way with doughnuts.    Ann is sitting across from the doctor and next to the chemist.   The doctor was thinking that Boobie was a goofy name for parent's to choose,but didn't say anything.    What is each person's occupation?                 Ans: Since Dave spoke to the biologist and Ann sat next to the chemist and across the doctor, Cathy must be the author  and Ann the biologist. doctor didn't speak, but David did, so Bobbie is the doctor and Dave the chemist.

 3. Sometime after 10:00 PM a murder took place. A witness claimed that the clock must have stopped at the time of the shooting. It was later found that the postion of both the hands were the same but their positions had interchanged. the time of the shooting (both actual and claimed). Ans: Time of shooting = 11:54 PM   Claimed Time     = 10:59 PM

 4. Next number in the series is     1 , 2 , 4 , 13 , 31 , 112 , ?                 Ans: 224.
        No number has digits more than 4. All of them are 1 , 2, 4, 8 , 16 , 32 , 64 converted to numbers in base 5 

5. Shahrukh speaks truth only in the morning and lies in the afternoon, whereas Salman speaks truth only in the afternoon.      A says that B is Shahrukh. Is it morning or afternoon and who is A - Shahrukh or Salman             Ans: Afternoon ; A is Salman.

 6. Two trains starting at same time, one from Bangalore to Mysore and other in opposite direction arrive at their     destination 1 hr and 4 hours respectively after passing each other. How nuch faster is one train from other?                Ans: Twice

 7. There are 6 volumes of books on a rack kept in order ( ie vol.1, vol. 2 and so on ).
     Give the position after the following changes were noticed. 

· All books have been changed 

· Vol.5 was directly to the right of Vol.2 

· Vol.4 has Vol.6 to its left and both weren't at Vol.3's place 

· Vol.1 has Vol.3 on right and Vol.5 on left 

· An even numbered volume is at Vol.5's place 

Find the order in which the books are kept now.

Ans: 2 , 5 , 1 , 3 , 6 , 4

 8. I bought a car with a peculiar 5 digit numbered licence plate which on reversing could still be read.   On reversing value is increased by 78633.Whats the original number if all digits were different?        Ans: Only 0 1 6 8 and 9 can be readupside down.So on rearranging these digits we get the answer as 10968

 9. The shape in the sketch below is that of a square attached to half of a similar square.Divide it into four equal pieces


Ans: Hint : the figure can be divided into 12 equal triangles  

10. Supposing a clock takes 7 seconds to strike 7. How mlong will it take to strike 10? Ans: 10 1/2 seconds.

1.An escalator is descending at constant speed.    A walks down and takes 50 steps to reach the bottom. B runs down and takes 90 steps in the same time as A takes 10 steps. 
   How many steps are visible when the escalator is not operating? 

Ans: 150 steps

2. Every day a cyclist meets a train at a particular crossing.  The road is straight before the crossing and both are travelling in the same direction.     The cyclist travels with a speed of 10 Kmph.    One day the cyclist comes late by 25 min. and meets the train 5km before the crossing.    What is the speed of the train?

Ans: 60 kmph

3. There are five persons with surnames Mukherjee, Misra, Iyer, Patil and Sharma.
    There are 4 persons having first or middle name of Kumar, 3 persons with Mohan, 2 persons with Dev and 1 Anil.     Either Mukherjee and Patil have a first or middle name of Dev or Misra and Iyer have their first or middle name of Dev.    Of Mukherkjee and Misra, either both of them have a first or middle name of Mohan or neither have a first or  
    middle name of Mohan.     Either Iyer or Sharma has a first or middle name of Kumar but not both.     Who has the first or middle name of Anil? 
Ans: Kumar Misra Dev
        Mohan Iyer Dev
        Kumar Patil Mohan
        Mohan Sharma Kumar 

4.  Boys are allowed to watch football at C.V.Raman auditorium subjected to conditions. 

· The boy over age 16 can wear overcoat 

· No boy over age  15 can wear cap 

· To watch the football either he has to wear overcoat or cap or both 

· A boy with an umberella or above 16 or both cannot wear sweater. 

· Boys must either not watch football or wear sweater. 

   What is the appearence of the boy who is watching football. 

5. A bird keeper has got P pigeons, M mynas and S sparrows.     The keeper goes for lunch leaving his assistant to watch the birds. 

· Suppose p=10, m=5, s=8 when the bird keeper comes back, the assistant informs the x birds have escaped. The bird keeper exclaims: "Oh no! All my sparrows are gone."
How many birds flew away? 

· When the bird keeper comes back, the assistant told him that x birds have escaped. The keeper realised that atleast 2 sparrows have escaped. 
What is minimum no of birds that can escape? 

6. Answer the following questions based on the conditions from the choices A, B, C, D, E as described below:
(A) if a definete conclusion can be drawn from condition 1 
(B) if a definete conclusion can be drawn from condition 2 
(C) if a definete conclusion can be drawn from condition 1 and 2 
(D) if a definete conclusion can be drawn from condition 1 or 2 
(E) no conclusion can be drawn using both conditions 

· person 1 says N<5 

· person says N>5 

· person 3 says 3N>20 

· person 4 says 3N>10 

· person 5 says N<8 

What is the value of N? 

a) 1. No of persons who speak false being less than no of persons who tells the truth. 
    2. Person 2 is telling the truth. 

b) 1. no of persong telling the truth is greater than no of persons telling lies 
    2. person 5 is telling the truth. 

7. There are N coins on a table and there are two players A & B.    You can take 1 or 2 coins at a time.     The person who takes the last coin is the loser. A always starts first. 

· If N=7 
(a) A can always win by taking two coins in his first chanse 
(b) B can win only if A takes two coins in his first chance. 
(c) B can always win by proper play 
(d) none of the above 

· 2. A can win by proper play if N is equal to 
(a) 13  (b) 37  (c) 22  (d) 34  (e) 48 
Ans: (e.) 

· 3. B can win by proper play if N is equal to 
(a) 25  (b)26  (c) 32  (d) 41  (e) none 

· 4. if N<4, can A win by proper play always?
(a) Yes  (b) No 
8. Two twins have vertain peculiar charcteristics.     One of them always lies on Monday, Wednesday, Friday.     The other always lies on Tuesdays, Thursdays and Saturdays. 
    On the other days they tell the truth. You are given a conversation. 

· Person A-- today is Sunday my name is Anil 

· Person B -- today is Tuesday, my name is Bill 

What day is today?                   Ans: Today is Tuesday.

9. There is a safe with a 5 digit number as the key.   The 4th digit is 4 greater than second digit, while 3rd digit is 3 less than 2nd digit.     The 1st digit is thrice the last digit. 
    There are 3 pairs whose sum is 11.     Find the number.           Ans: 65292


10. A hotel has two wings,the east wing and the west wing.       Some east wing rooms but not all have an ocean view.      All west wing rooms have a harbour view.
      The charge for all rooms is identical, except as follows : 

· Extra charge for all harbour view rooms on or above the 3rd floor 

· Extra charge for all ocean view rooms except those without balcony 

· Extra charge for some harbour rooms on the first two floor & some east wing rooms without ocean view but 
having kitchen facilities. 

Which of the following cannot be determined on the basis of the nformation given:

I.   Whether there are any rooms without a balcony for which an extra charge is imposed.
II.  Whether any room without a kitchen or a view involves an extra charge.
III. Whether two extra charges are impsed for any room.

(A) I only
(B) II only
(C) III only
(D) II and III only
(E) I, II and III      (This question is from 1999 Barrons GRE Guide model Test 3 - section 6, question 22)        Ans: (A)

----------------------------------------------------

1. At 6'o a clock ticks 6 times.    The time between first and last ticks is 30 seconds.
    How long does it tick at 12'o clock.                  Ans: 66 sec.                 (2 marks) 

2. Three friends divided some bullets equally.  After all of them shot 4 bullets the total number of bullets remaining is equal to the bullets each had after division.Find the original number divided.               Ans: 18                         (2 marks)

Initially   .    x          x        x 
Now          x-4       x-4     x-4 
Equation is   3x-12 = x 


3. A ship went on a voyage. it had travelled 180 miles a plane statrted with 10 times the speed of the ship. Find the distance when they meet from starting point. 

Ans: 200miles.              (2 marks)
        Distance travelled by plane = 1/10 distance travelled by ship + 180

4.  Complete the Table given below: football teams are there. Given below is the group table. Fill in the x's 

	
	Played
	Won
	Lost
	Draw
	Goals For
	Goals Against

	A
	2
	2
	x
	x
	x
	1

	B
	2
	x
	x
	1
	2
	4

	C
	2
	x
	x
	x
	3
	7


Ans: The filled table is given below                                (4 marks)

	
	Played
	Won
	Lost
	Draw
	Goals For
	Goals Against

	A
	2
	2
	0
	0
	7
	1

	B
	2
	0
	1
	1
	2
	4

	C
	2
	0
	1
	1
	3
	7


 5. There are 3 societies A, B, C.   A lent cars to B and C as many as they had already.
   After some time B gave as many tractors to A and C as many as they have.  After sometime c did the same thing. At the end of this transaction each one of them had 24. 
Find the cars each orginally had. Ans: A had 39 cars, B had 21 cars & C had 12 cars                   (4 marks)


6. There N stations on a railroad. After adding X stations on the rail route 46 additional tickets have to be printed.    Find N and X.             Ans. x=2  and N=11

Let initially, N(N-1) = t
After adding,  (N+X)(N+X-1) =  t+46
By trail and error method                                       (4 marks)


7.Given that April 1 is tuesday. A, B, C are 3 persons told that their farewell party was on  

· A  - May 8, thursday 

· B  - May 10,tuesday 

· C  - June 5, friday 

Out of A, B, C only one made a completetly true statement concerning date,day and month The other told  two one told the day right and the other the date right..
What is correct date, month, day.  

Ans:  B - (May 10) SUNDAY
        C  - June 6 (Friday).                                     (5 marks)

8. The Bulls, Pacers, Lakers and Jazz ran for a contest. Anup, Sujit, John made the following statements regarding results. Anup said either Bulls or Jazz will definitely win 

· Sujit said he is confident that Bulls will not win 

· John said he is confident that neither Jazz nor Lakers will win 

When the result cameit was found that only one of the above three had made a correct statement. Who has made the correct statement and who has won the contest. 

Ans: Sujith; Lakers                      (5marks )

9. Five people A ,B ,C ,D ,E are related to each other. Four of them make one true statement each as follows.(i)  B is my father's brother.        
(ii) E is my mother-in-law.
(iii)C is my son-in-law's brother
(iv)A is my brother's wife.

Ans: (i)   D
        (ii)  B 
        (iii) E
        (iv) C                                 (10 marks)

10.  Some statements are given below: 

· L says all of my other four friends have money 

· M says that P said that exactly one among them has money 

· N says that L said that precisely two among them have money 

· O says that M said that three of the others have money 

· P, L and N said that they have money 

All the above statement are false.. 
Who has money & who doesn't have any money?         (5 marks) 

 ****************

1.  Replace each letter by a digit.  Each letter must be represented by the same 

  digit and no beginning letter of a word can be 0.  

  O N E 

  O N E 

  O N E 

  O N E 

  ------- 

  T E N               Ans:  0 =1, N = 8 ,E = 2, T = 7 

  Fresher sworld.com     

2. Ann, Boobie, Cathy and Dave are at their monthly  business meeting. Their occupations are author, biologist, chemist  and doctor, but not necessarily in that order. 

Dave just told the biologist that Cathy was on  her way with doughnuts. Ann is sitting across from the doctor and next  to the chemist. The doctor was thinking that Boobie was a goofy  name for parent's to choose,but didn't say anything.  What is each person's occupation? Ans: Since Dave spoke to the biologist and Ann sat  next to the chemist and 

across the doctor, Cathy  must be the author and Ann the biologist. The 

doctor didn't speak, but David did, so  Bobbie is the doctor and Dave 

the chemist.     

3. Sometime after 10:00 PM a murder took place. A witness claimed that the clock must have stopped at the time of the shooting.  It was later found that the postion of both the 

hands were the same but their positions had  interchanged. Tell the time of the shooting (both actual and  claimed.Ans: Time of shooting = 11:54 PM Claimed Time = 10:59 PM 

4. Next number in the series is  1 , 2 , 4 , 13 , 31 , 112 , ? Ans: 224. 

No number has digits more than 4. All of them are 1 , 2, 4, 8 , 16 , 32 , 64 converted to 

numbers in base 5     

5. Shahrukh speaks truth only in the morning and lies in the afternoon, whereas Salman speaks truth  only in the afternoon.      A says that B is  Shahrukh. Is it morning or afternoon and who is A -  Shahrukh or Salman.  Ans: Afternoon ; A is Salman. 

6. Two trains starting at same time, one from  Bangalore to Mysore and other in opposite direction  arrive at their destination 1 hr and 4 hours respectively after  passing each other. How nuch faster is one train  from other?  Ans: Twice 

7. There are 6 volumes of books on a rack kept in  order ( ie vol.1, vol. 2 and so on ). 

Give the position after the following changes were noticed.  All books have been changed   Vol.5 was directly to the right of Vol.2   Vol.4 has Vol.6 to its left and both weren't at  Vol.3's place.Vol.1 has Vol.3 on right and Vol.5 on left. An even numbered volume is at Vol.5's place Find the order in which the books are kept now.  Ans: 2, 5,1,3,6,4 

8. I bought a car with a peculiar 5 digit numbered  licence plate which on reversing could still be  read. On reversing value is increased by 78633.Whats  the original number if all digits were different? Ans: Only 0 1 6 8 and 9 can be readupside down.So on  rearranging these digits we get the answer as 10968  

9. The shape in the sketch below is that of a square attached to half of  a similar square. Divide it into  four equal pieces Ans: Hint : the figure can be divided into 12 equal 

triangles     

10. Supposing a clock takes 7 seconds to strike 7.  How mlong will it take to strike 10? 

Ans: 10 1/2 seconds. 

    

1) There are two balls touching each other circumferencically. The radius of the big ball is 4 times the diameter of the small all.The outer small ball rotates in anticlockwise direction circumferencically over the bigger one at the rate of 16 rev/sec. The bigger wheel also rotates anticlockwise at Nrev/sec. what is'N' for the horizontal line from the centre of small wheel always is horizontal.

2)      1 2 3 4

         + 3 4 5 5

           ----------

            4 6 8 9

         - 2 3 4 5

         ----------

           2 3 4 4

       + 1 2 5 4

      ------------

         3 6 9 8

 Q)  Strike off any digit from each number in seven rows (need not be at same place) and combine the same operations with 3 digit numbers  to get the same addition. After this strike off another digit from all and add all the No.s to get the same 2 digit No. perform the same process again with 1 digit No.s. Give the ' no.s in 7 rows at each stage.

  

3) there is a safe with a 5 digit No. The 4th digit is 4 greater thansecond digit, while 3rd digit is 3 less than 2nd digit. The 1st digit is thrice the last digit. There are 3 pairs whose sum is 11. Findthe number.         Ans) 65292.

  

3) there are 2 guards Bal and Pal walking on the side of a wall of a wearhouse(12m X 11m) in opposite directions. They meet at a point and Bal says to Pal " See you again in the other side". After a few moments of walking Bal decides to go back for a smoke but he changes his direction again to his previous one after 10 minutes of walking in the other(opposite) direction remembering that Pal will be waiting for to meet.If Bal and Pal walk 8 and 11 feet respectively, how much distance they would have travelled before meeting again. 

4)           xxx)xxxxx(xxx

                       3xx

                      -------

                           xxx

                           x3x

                          ------

                           xxx

                           3xx

                          ------

    Q) Find the 5 digit No.   Hint: 5 is used atleast once in the calculation.

 6) Afly is there 1 feet below the ceiling right across a wall length is 30m at equal distance from both the ends. There is a spider 1 feet above floor right across the long wall eqidistant from both the ends. If the width of the room is 12m and 12m, what distance is to be travelled by the spider to catch the fly? if it takes the shortest path.

 7) Ramesh sit around a round table with some other men. He has one rupee more than his right person and this person in turn has 1 rupee more than the person to his right and so on, Ramesh decided to give

1 rupee to his right & he in turn 2 rupees to his right and 3 rupees to his right & so on. This process went on till a person has 'no money' to give to his right. At this time he has 4 times the money to his right person. How many men are there along with Ramesh and what is the money with poorest fellow.

8)Question related to probabilities of removing the red ball from a basket, given that two balls are removed from the basket and the other ball is red. The basket contains blue,red,yellow balls.

9)Venkat has 1boy&2daughters.The product of these children age is 72.The sum of their ages give the door numberof Venkat.Boy is elder of three.Can you tell the ages of all the three.

ANALYTICAL

----------  

1)L:says all of my other 4 friends have money

M:says that P said that exact one has money

N:says that L said that precisely two have money

O:says that M said that 3 of others have money.

P:Land N said that they have money.

all are liers.Who has money&who doesn't have?

 2)A hotel has two,the east wing and the west wing.some east wing rooms but not all have an ocean view(OV).All WW have a harbour view(HV).The charge for all roomidentical, except as follows  

* Extra charge for all HV rooms on or above the 3rd floor

* Extra charge for all OV rooms except those without balcony

* Extra charge for some HV rooms on the first two floor&some EW rooms

without OV but having kitchen facilities. (GRE modrl Test 3-question-22)    

3)Post man has a data of name surname door no.pet name of 4 families.But only one is correct for each family.There are a set of statements &questions.

  

4)4 couples have a party.Depending on the set of statements,find who insulted whom and who is the host of the party. 

5)5 women given some of their heights (tall, medium,short) Hair(long,plainted) ,stards (Black or Brown), sari,2 medium,2-short.Tall->no sari.Plainted->medium.Answer the combinations.

1) A person has to go both Northwards&Southwards in search of a job.He decides to go by the first train he encounters.There are trains for every 15 min both southwards and northwards.First train towards south is at 6:00 A.M. and that towards North is at 6:10 .If the person arrives at any random time,what is the probability that he gets into a train towards North.

2) A person has his own coach&whenever he goes to railway station he takes coach.One day he was supposed to reach the railway station at 5 O'clock.But he finished his work early and reached at 3 O'clock.Then he rung up his residence and asked to send the coach immediately.He came to know that the coach has left just now to tje railway station.He thought that the coach has left just now to the railway station.He thought that he should not waste his time and started moving towards his residence at the speed of 3mi/hr.On the way,he gets the coach and reaches home at 6 o'clock.How far is his residence from railway station. 

3)Radha,Geeta&Revathi went for a picnic.After a few days they forgot the date,day and month on which they went to picnic.Radha said that it was onThursday,May 8 and Geeta said that it was Thursday May 10.Revathi said Friday Jun 8.Now one of them told all things wrongly,others one thing wrong and the last two things wrongly.If April 1st is Tuesday 

what is the right day,date and month?

-------------------------------------------------------------------------

               INFOSYS TECHNOLOGIES LIMITED.

1  9 cards are there. u have to arrange them in a 3*3 matrix.        cards are of 4 colors.they are red,yellow,blue,green.  conditions for arrangement: one red card must be in first row       or second row.2 green cards should be in 3rd column.Yellow        cards must be in the 3 corners only. Two blue cards must be in   the 2nd row. Atleast one green card in each row.

       Solution:

       Yello     Red        Gren

       Blu       Blu        Gren

       Yello     Gren       Yello

 2. 4 cards are placed on a table, each card has two colors. U   don't know the color of the back side of eachcard.4 persons A  B C and D are sitting on the table before the cards. They can   see Red, Green Red and blue .Out of the 4 poeple 2 always lie.  They see the color on the reverse side and give the following

       comment

       A: Yello/green

       B: Neither Blue/nor Green

       c: Blue/Yello

       D: Blue/ Yello

       find out the color on the other side of the 4 cards.

3.Red and brown tribes [FROM BARRONS GRE] Conditions to  get married with each other.  

4. Venn diagram regarding Rich, muscular, soft-skinned,  employed, etc.,( Refer BARRONS GRE GUIDE)

1. SAKUNTALA DEVI'S PUZZLE BOOK : PUZZLES TO PUZZLE YOU.

            problem no: 3. ( Brothers and Sisters)    A family I know has several children. Each boy in this has as many sisters as brothers but each girl has   twice as many brothers as sisters. How many brothers  and sisters are there?        ans: 4 boys and 3 girls

  2. No. of animals is 11 more than the no. of birds. If the   no. of birds were the no. of animals and no. of animals were the no. of birds( ie., interchanging no.s of animals   and birds.), the total no. of legs get reduced by one fifth  (1/5). How many no. of birds and animals were there?

            ans: birds:11,animals:22

 3. In a soap company  a soap is manufactured with 11 parts.  For making one soap you will get 1 part as scrap. At the  end of the day u have 251 such scraps. From that how many   soaps can be manufactured? ans: 22 + 2+ 1 = 25

4.        2 * *            |

          3 * *            | No. 7 does not occur in this

  ----------------       |

          5 * *            | multiplication.

         * 4 *              |

         * * 3                | Find the product.

    ----------------       |

 * * * * *            |

 ----------------       |

--------------------------------------------------                

  ans   2 8 1

         3 2 2

         -----

        5 6 2

     5 6 2 0

 8 4 3 0 0

 ---------

 9 0 4 8 2

 ---------

5.  There is a 5digit no. 3 pairs of sum is eleven each. digit is 3 times the first one.

3 rd digit is 3 less than the second.     4 th digit is 4 more than the second one.

              Find the digit.

              ans : 25296.

  6. There are five thieves, each loot a bakery one after the          other such that the first one takes 1/2 of the total no.      of the breads plus 1/2 of a bread. Similarly 2nd, 3rd,4th   and 5fth also did the same. After the fifth one no. of    breads remained are 3. Initially how many breads were there?             ans : 31.

7.ESCALATOR PROBLEM OF SAKUNTALA DEVI 'PUZZLES TO PUZZLE'book.

Problem No: Problem 27( Down the escalator)  ans : the no of steps in the stair way : 46.

8.Harbour line and Main line Problem of Sakuntala Devi Puzzle book. Ans : 4/5.

 9.There are some chicken in a poultry. They are fed with corn   One sack of corn will come for 9 days.The farmer decides to  sell some chicken and wanted to hold 12 chicken with him.   He cuts the feed by 10% and sack of corn comes for 30 days. So initially how many chicken are there?

10.Two people X & Y walk on the wall of a godown in opposite       direction. They meet at a point on one side and then go   ahead. X after walking for some time, walks in opposite      direction for 15 mtrs.Then again he turns back and walks in the original direction. What distance did Y walk before they met again, if X walks 11 mtrs by the time Y walks  8 mtrs.

            .

    

1. There is 66x33m rectangular area. Ram is 11/8 times faster thanKrishna. Both of them started walking at opposite ends and they met at some point then, Ram said "See you in the other end" Then they continued walking. After some time Ram thought he will have tea so he turned back walked back 15 meters then he changed his mind again and continued walking .How much Krishna has traveled by the time they meet?

2.  There are 5 burglars and once went to a bakery to rob it obviously The first guy ate 1/2 of the total bread and 1/2 of the bread The second guy ate 1/2 of the remaining and 1/2 of the bread. The third guy ,fourth guy and fifth guy did the same. After fifth guy there is no bread left out. How many bread are there?

  

3. The no. of children adults . The no .of adults  the  no .of boys . The no. of boys  no. of girls .The no. of girls  no. of  family conditions

1. No family is without a child  

2. Every girl has at least one brother and sister .

  

4. All  members belonging to D are  members of  A

                       do........................E.................D

 do........................C.................both A&D

   Some members of A does not belong to  D

               do...............D......................E

    5 questions are there.

 5. Write each statements true or false

1.The sum of the1st three statements and the 2nd false statement  gives the true statement. 

2.The no. of true statements false statement

3. The sum of 2nd true statement and 1st false statement gives the first true statement.

      4. There are at most 3 false statements

       5.There is no two consecutive true statements

       6.If this contains only 1-5 statements, the answer of this is

same as the an answer of the following question

6.Question on Venn diagram.

        All handsome are also fair skinned

       Some muscular are fair skinned

       Some muscular are also handsome

       All lean are also muscular

       Some lean are also fair skinned.

       All rich man is not fair skinned but all rich man are handsome

  

7. There are twelve consecutive flags at an equal interval ofdistance. A man passes the 8th flag in 8 seconds. How many more seconds will he take to pass the remaining 4 flags 

  

8. A person has to cover the fixed distance through his horses. There are five horses in the cart. They ran at the full potential for the 24 hours continuously at constant speed and then two of the horses ran away to some other direction. So he reached the destination 48

hours behind the schedule. If the five horses would have run 50 miles more, then the person would have been only 24 hours late. Find the distance of the destination.

 9. A boat M leaves shore A and at the same time boat B leaves shore B. They move across the river. They met at 500 yards away from A and after that they met 300 yards away from shore B without halting at shores. Find the distance between the shore A & B.

 10. A person was going through train from Bombay to Pune. After every five minutes he finds a train coming from opposite direction. Velocity of trains are equal of either direction. If the person reached Pune in one hour then how many trains he saw in the journey ?   

11. Food grains are to be sent to city from godown. Owner wants to reach the food grains at 11 O' Clock in the city. If a truck travels at a speed of 30km/hr then he will reach the city one hour earlier. If the truck travels at a speed of 20km/h then he will reach the cityone hour late. Find the distance between the godown to city. Alsowith which speed the truck should travel in order to reach at exactly 11 'O clock.

12. There are five persons A,B,C,D,E whose birthdays occur at theconsecutive days. Birthday of A is some days or day before C & birthday of B is exactly the same days or day after E.  D is two days older than E. If birth day of C is on Wednesday then find out the birthdays of other.

   13 persons say these statements.    A says either Democratic or liberal wins the elections. B says Democratic wins.C says neither democratic nor liberal wins the election. Of these only one is wrong. who wins the election?

  14. Six persons  A,B,C,D,E &F went to soldier cinema. There are six consecutive seats. A sits in the first seat followed by B, followed by C and  so on. If A taken on of the six seats, then B should sit adjacent to A. C should sit adjacent to A or B. D should sit adjacent to A, B or C and so on. How many possibilities are there ?

15. Suppose there are four grades A, B, C, D. (A is the best and D is the worst) 4 persons Jack, Jean, Poul and Lucy wrote the final exam and made the statements like this

               1.  Jack: If I will get A then Lucy will get D

               2.  Lucy: If I will get C then Jack will get D. Jackgrade is better than Poul grade.

               3.  Jean: If Jean doesn't get A then Jack will not getA

               4.  Poul: If Jack get A, then Jean will not get B,

Lucy will get C, I won't either A or B If all the above statements are true, then which person will get which grade.

 16. Each man dances with 3 women, Each women dances with 3 men. Among each pair of men they have exactly two women in common. Find the no. of men and women.

 17. A survey was taken among 100 people to find their preference of watching t.v. programmes. There are 3 channels. Given no of people who watch at least channel   1

  "                "        2

  "                "        3

no channels at all atleast channels  1and 3

  "             "           1 and 2

  "             "           2 and 3

find the no of people who watched all three.

  18. Albert and Fernandes have two leg swimming  race. Both start fromopposite and of the pool. On the first leg, the boys pass each other at 18 mt from the deep end of the pool. During the II leg they pass at 10 mt from the shallow end of the pool. Both go at const speed. But one of them is faster. Each boy rests for 4 sec to see at the endof the I leg. What is the length of the pool.  

19. A bird keeper has got P pigeon, M mynas and  S sparrows. The keeper goes for lunch leaving his assistant to watch the birds. suppose p=10, m=5, s=8

  

a.) when the bird keeper comes back,  the assistant informs that x birds have escaped. The bird keeper exclaims oh no! all my   sparrows are gone. How many birds flew away.

b.) when the bird keeper come back, the assistant told him that x birds have escaped. The keeper realised that atleast 2 sparrows have escaped.

What is minimum no of birds that can escape .  

20.Select from the five alternatives A,B,C,D,E   At the end of each question , two conditions will be given. The choices are to filled at follows.

a. if a definite conclusion can be drawn from condition 1

b. if a definite conclusion can be drawn from condition 2

c. if a definite conclusion can be drawn from condition 1 and 2

d. if a definite conclusion can be drawn from condition 1 or 2

e. no conclusion can be drawn using both conditions 

1. person 1 says N<5

    person 2 says n>5

    person 3 says 3N>20

    person 4 says 3n>10

    person 5 says N<8

  what is the value of N

  a) 1. no of persons who speak false being less than no of persons who tells the truth.

    2. person 2 is telling the truth.

b) 1. no of persong telling the truth is greater than no of persons telling lies

    2. person 5 is telling the truth.

  21. There are N coins on a table. There are two players A&B. You can take 1or 2 coins at a time. The person who takes the last coin is the loser. A always starts first

  

--1. if N=7

     a) A can always win by taking two coins in his first chance

     b) B can win only if A takes two coins in his first chance.

     c) B can always win by proper play

     d) none of the above  

--2.  A can win by proper play if N is equal to 

 a) 13   b) 37  c) 22 d) 34   e) 48      ans. e.

--3. B can win by proper play if N is equal to

a) 25   b)26    c) 32   d) 41  e) none

--4. if N<4, can A win by proper play always

22. There are 4 parties A,B,C,D. There are 3 people x,y,z.

X-says A or D will win.

Y-says A will not win.

Z-says B or D will not win.

Only one of them is true. Which party won.

23.5. R,S,T,U,V are contesting for a medal. Evaluation is over, sasyEnglish, Maths, Physics, Chemistry and Hindi. Toper will get 5 marks, least will get 1mark. No ties any where. R get 24 and won the overall medal. V-get I st in Chemistry and 3 rd in Hindi, T got consistent scores in 4 subjects. Their final standings where in the alphabeticalo order. What was the score of S in Chemistry. 

24. There are 3 types of castes, say A,B,C. A- always tells truth, B-always false, C- alternating. X says --> Z is of C type, I am of A type

Y says --> X is a B type.

Z says --> X is of B type.

Who is of which type.

  

25. There are two balls touching each other circumferencially. Theradius of the big ball is 4 times the diameter of the small ball.The outer small ball rotates in anticlockwise direction circumferencially over the bigger one at the rate of 16 rev/sec.The bigger wheel alsorotates anticlockwise at Nrev/sec. what is 'N' for the horizontal line from the centre of small wheel always is horizontal.  

26. There are 2 guards Bal and Pal walking on the side of a wall of a wearhouse(12m X 11m) in opposite directions. They meet at a point and Bal says to Pal "See you again in the other side". After a few moments of walking Bal decides to go back for a smoke but he changes his direction again to his previous one after 10 minutes of walkingin the other (opposite) direction remembering that Pal will be waiting for to meet. If Bal and Pal walk 8 and 11 feet respectively, how much distance they would have traveled before meeting again.  

27. xxx)xxxxx(xxx

                        3xx

                       -------

                         xxx

                         x3x

                        ------

                         xxx

                         3xx

Find the 5 digit No. Hint: 5 is used at least once in the calculation.

  28. A fly is there 1 feet below the ceiling right across a walllength is 30m at equal distance from both the ends. There is a spider 1 feet above floor right across the long wall equidistant from both the ends. If the width of the room is 12m and 12m, what distance is to be traveled by the spider to catch the fly? if it takes the shortest path.

27. Ramesh sit around a round table with some other men. He has onerupee more than his right person and this person in turn has 1 rupee more than the person to his right and so on, Ramesh decided to give 1 rupee to his right & he in turn 2 rupees to his right and 3 rupees to his right & so on. This process went on till a person has 'no money' to give to his right. At this time he has 4 times the money to his right person. How many men are there along with Ramesh and what is the money with poorest fellow.

28.  Venkat has 1 boy & 2 daughters. The product of these children age is 72. The sum of their ages give the door number of Venkat. Boy is elder of three. Can you tell the ages of all the three.   

29. L:says all of my other 4 friends have moneyM:says that P said that exact one has money N:says that L said that precisely two have money                                                                

O:says  that M said that 3 of others have money.

P:Land N said that they have money.

All are liers.Who has money & who doesn't have?

  30. Post man has a data of name surname door no.pet name of 4families. But only one is correct for each family. There are a set of statements & questions.  

31. couples have a party. Depending on the set of statements, find who insulted whom and who is the host of the party.   

  32. A person has to go both Northwards & Southwards in search of a job. He decides to go by the first train he encounters. There are trains for every 15 min both southwards and northwards. First train towards south is at 6:00 A.M. and that towards North is at 6:10.If the person arrives at any random time, what is the probability that he gets into a train towards North.   

33. A person has his own coach & whenever he goes to railway station he takes his coach. One day he was supposed to reach the railway station at 5 O'clock. But he finished his work early and reached at 3 O'clock. Then he rung up his residence and asked to send the coach immediately. He came to know that the coach has left just now to the railway station. He thought that he should not waste his time and started moving towards his residence at the speed of 3miles/hr. On the way, he gets the coach and reaches home at 6 o'clock. How far is his residence from railway station.

  34. Persons A and B. Person A picks a random no. from 1 to 1000.Then person B picks a random no. from 1 to 1000. What is the probability of B getting no. greater then what A has picked.    

35. Three boys and three girls brought up together. Jim, Jane, Tom, Virgina, Dorthy, XXX.   They marry among themselves to form three couples. Conditions are :

i) Sum of their ages would be the same.

ii) Virgina was the oldest.

iii) Jim was dorthy's brother.

iv) Sum of ages  Jane+Jim and Tom+dorthy is same.

Give the three couples.

   36. X^(1/3) - X^(1/9) =60       Solve for X.

  37. X Z Y+X Y Z = Y Z X Find the three digits.

  38.. Two boats start from opposite banks of river perpendicular to the shore. One is faster then the other. They meet at 720 yards from one of the ends. After reaching opposite ends they rest for 10mins each. After that they start back. This time on the return journey they meet at 400yards from the other end of the river. Calculate the width of the river.  

39. Basketball Tournament organizers decided that two consecutive defeats will knock out the team. There are 51 teams participating. What is the maximum no. of matches that can be played.  

40. The Master says to his grandmaster that me and my three cousins have ages in prime nos. only. Summation of our ages is 50. Grandmaster who knows the age of the master instantly tells the ages of the three cousins. Tell the ages of three cousins.( 1 is not considered as prime no.)

41. There are two families Alens and smiths. They have two children each. There names are A,B,C,D whose ages are different and ages are less then or equal to 11. The following conditions are given.   i) A's age is three years less then his brother's age .

             ii) B is eldest among the four.

iii) C is half the age of the eldest in Alens family.

iv) The difference in sum of the ages of Alens children and smiths children is same as that of five years ago. Find the ages of all the children. 

42. a,b,c,d,e  are having numerical values. There are some conditions given

      a)  a=c  <===  b!=e

   b) difference between a and c as same as difference between c and b as same as difference between a and d

   c)  c<a  and  cd        Then find a,b,c,d,e

  43. There are six cards in which it has two king cards. all cards are turned down and two cards are opened  a) what is the possibility to get at least one king.

  b) what is the possibility to get two kings.

  44. There are 5 persons a,b,c,d,e and each is wearing a block or white cap on his head. a person can see the caps of the remaining 4 but can't see his own cap. a person wearing white says true and who wears block says false.

  i) a says i see 3 whites and 1 block

 ii) b says i see 4 blocks

iii) e says i see 4 whites

iiii) c says i see 3 blocks and 1 white.

Now find the caps weared by a,b,c,d and e

  45. There are two women, kavitha and shamili and two males shyam, aravind who are musicians. out of these four one is a pianist, one flutist, violinist and drummer.

    i) across aravind beats pianist

   ii) across shyam is not a flutist

  iii) kavitha's left is a pianist

 iiii) shamili's left is not a drummer

 v)  flutist and drummer are married.

  46. When Arthur is as old as his father Hailey is now, he shall be 5 times as old as his son Clarke is now. By then, Clarke will be 8 times older than Arthur is now. The combined ages of Hailey and Arthur are 100 years. How old is Clarke ?

  47. The seven digits in this subtraction problem are 0,1,2,3,4,5 and 6. Each letter represents the same digit whenever it occurs. 

                    D   A   D   C   B

                         E   B   E   G

                   --------------------

                         B   F   E   G

                     --------------------

What digit is represented by each letter ?    

  

48. The Jones have named their four boys after favorite relatives; their friends, the Smiths, have done the same thing with their three boys. One of the families has twin boys. From the following clues, can you     determine the families of all seven children and their ages ?

          i)   Valentine is 4 years older than his twin brothers.

       ii)  Winston, who is 8, and Benedict are not brothers. They

are each named after a grandfather.

       iii) Briscoe is two years younger than his brother Hamilton, But three years older than Dewey.

       iv)  Decatur is 10 years old.

       v)   Benedict is 3 years younger than Valentine; they are not related.

       vi)  The twins are named for uncles.

   49. Motorboat A leaves shore P as B leaves Q; they move across the lake at a constant speed. They meet first time 600 yards from P. Each returns from the opposite shore without halting, and they meet 200  yards from. How long is the lake ?

   50. Fanta, Pepsi and Citra often eat dinner out.

       a) Each orders either coffee or tea after dinner.

       b) If Fanta orders coffee, then Pepsi orders the drink that Citra orders.

       c) If Pepsi orders coffee, then Fanta orders the drink that Citra does not order.

       d) If Citra orders tea, then Fanta orders the drink that Pepsi orders.

       Which person/persons always orders the same drink after  dinner  ?

   51. On the Island of imperfection there is a special road,  Logic Lane, on which the houses are usually reserved for the more mathematical  inhabitants. Add, Divide and Even live in three different houses on this road (which has houses numbered from 1-50). One of them is a member of the Pukka Tribe, who always tell the truth; another is a member of the Wotta Tribe, who never tell the truth; and the third is a member of the Shalla Tribe, who make statements which are alternately true and false, or false and  true.

       They make statements as follows :

       ADD: 1 The number of my house is greater than that of  Divide's.

                 2 My number is divisible by 4.

                  3 Even's number differs by 13 from that of one of the others.

          DIVIDE : 1 Add's number is divisible by 12.

                         2 My number is 37.

                         3 Even's number is even.

         EVEN : 1 No one's number is divisible by 10.  

                     2 My number is 30.

                     3 Add's number is divisible by 3.

Find to which tribe each of them belongs, and the number of each oftheir houses.

 52. The names of the inhabitants of Walkie Talkie Land sound strange to the visitors, and they find it difficult to pronounce them, due to their length and a few vowel sounds they contain. The Walkie Talkie guide is discussing the names of four inhabitants - A,B,C and D. Their names each contain upto eight syllables, although none of the four names contain the same number. Two of the names contain no vowel sounds; one contains one vowel sound; and one contains two vowel sounds. From the Guide's statements below, determine the number of syllables and vowel sounds in each of the four Walkie Talkie names :   

       i)  The one whose name contains two vowel sounds is not A.

       ii) C's name does not contain more than one vowel sound or  fewer than seven syllables.

       iii)The name with seven syllables does not contain exactly one vowel sound.

       iv) B and C do not have names with the same number of vowel  sounds.

        v)  Neither the name with five syllables nor the name with

seven syllables contains more than one vowel sound.

       vi) Neither the name with six syllables, nor the B's name,contains two vowel sounds.

  

53. Multiplication and Division.

        (1)    - - - - -  (a)          (2)          _ _ . _    (d)

  

                       ________________

  

                  - - -  (b)          - - -) - - - - - . 0

  

             _________________                 - - -

  

                                            _______________

  

              - - - - -                        

  

          - - - - -                            - - - -

  

         ___________________                     - - -

  

                                              _______________

  

          - - - - - - -  (c)                      

  

                                                   - - -

  

                                                   - - -

  

                                                  ========

  

         (1) and (2) represent the same two numbers - in one case

multiplied  9 together, in other case divided.

  

 Given that there are no 3's. find the missing digits indicated as

(a), (b), (c) and (d) above ?

  

 Freshersworld.com
54. Two identical twins have a very unusual characteristic.  Onetells nothing but lies on Mondays, Wednesdays and Fridays, and tells nothing but the truth all other days. The other tells nothing but lies on Tuesdays, Thursdays and Saturdays, and tells nothing but the truth all other days. On Sundays both children speak the truth.  

55. Which of the following statements can be deduced from the information presented ?        

          i)  If it is Sunday, the twins will both say so.

          ii) If it is not Sunday,one twin will give the correct day and the other will lie about everything.

          iii)On any given day, only one twin will give his correct name.

                 a)  i only

                b)  i and ii only

                c)  i and iii only

                d)  ii and iii only

                e)  i,ii and iii

  

56. According to the information presented, which of the following conversations will be impossible.

          a)Twin A  :  "Today you are a lier"

             Twin B  :  "You are telling the truth"

          b)Twin A  :  "Today you are a lier"

             Twin B  :  "Today I am a truthteller"

          c)Twin A  :  "Tommorow I shall be a lier"

             Twin B  :  "That's correct"

          d)Twin A  :  "Tommorow you will be a lier"

             Twin B  :  "Today you are a truthteller"

          e)Twin A  :  "Yesterday we were both truthtellers"

             Twin B  :  "You are lying"

  

 Freshersworld.com
57. Assume that the twins followed a different set of rules, so that on a given day both told only the truth while next day both only lied, alternating days of truth telling and lying. Under these rules,which of the following conversations would be possible ?

          a) Twin A  :  "Today you are a lier"

              Twin B  :  "That is correct"    

          b) Twin A  :  "Today you are a lier"

              Twin B  :  "That is not so"          

          c) Twin A  :  "Tommorow we will be liers"

              Twin B  :  "Yesterday we were truthtellers"            

          d) Twin A  :  "Tommorow we will be liers"

              Twin B  :  "You are 1 year older than I am"            

          e) Twin A  :  "We always tell the truth"

              Twin B  :  "We some times tell the truth"

  

58.If the twins are heard saying the following on the same day, which choice presents a correct statement ? 

          Twin A   :   "It is Sunday Today"

         Twin B   :   "Yesterday was Sunday"

         Twin A   :   "it is summer season now"

         a) it is a summer sunday

         b) it is a summer monday

         c) it is Monday but not summer

         d) it is Sunday but not summer

         e) it is impossible to determine whether it is Sunday or Monday

.3rd Sept 2003
1)Every station in N railroad issues every other station's ticket.  Some stations are added. Now they have to issue 46 more tickets. Give the No. of stations after and  added.(5 marks).
2)There was a race between 3 ppl; Me, Doug and Anne.  When i take 21 steps the distance covered is equal to Doug's 24 steps and Anne's 28 steps  
Men: Rs.3.00 each
Women: Rs. 2.00 each
Childern: 0.48 each
If number of women is more than number of men, how many childern are there? (5 marks)
6) Alice and Liu had some berries. The total of Alice's berries  and square of number of berries with Liu is 62. The total of Liu's berries and square of number of berries with Alice is 176. How many berries does each of them have? (6 marks)
7)A rope ladder was left down from a ship. 12 steps of the ladder were exposed at 10:00 am.
The queen who was going to visit the ship, said she would visit at 1:00 pm as she would 
have to climb lesser number of steps then. The tide in the sea increases from morning to 
afternoon at the rate of 1.2 meters per hour. The distance between any 2 steps of the 
ladder is 0.4 mts. How many steps will the queen have to climb?
8)5 hunters Doe, Deer,Hare,Boarand Row kill 5 animals. Each hunter kills an animal that does not
corrspond to his name. Also each hunter misses a different animal
which again does not correspond to his name.
a) The Deer is killed by the hunter,known by the name of the animal killed by Boar.
b) Doe is killed by the hunter, known by name of animal missed by Hare.
c) The Deer was disappointed to kill only a Hare and missed the Roe.
9) there was 1 more on moon gravity 1/6, weight ... or something... don't remember. A difficult one. Needed some knowledge of physics i guess.
Altogether there were 11 questions to be completed in 1 hr.
English test was simple for 30 mins - 1 comprehension & other fill in the blank kinds, qts some sentence correction qts.
   ********************
 
I take 6 steps to every 7 steps of Doug and 8 steps of Anne. Who won the race?
3)How many bearers will an explorer need for
a 6 day march if each man can carry the food stuff of one man for 4 days.
4) Consider the foll statements:
Albert: Dave did it.
Dave: Tony did it.
Gug: I did not do it.
Tony: Dave lied when he said that i did it.
(a)If only one out of all above statements is true, who did it?
(b)If only one out of all above statements is false, who did it?
5) A contribution of Rs. 500 was raisedfrom 500 people. The fee was as follows:              
Main Question Paper

Question 1.

1)  a) 10 1 9 2 8 3 7 4 6 5 5 6 4 7 3 8 2 _ _

        b) 2 4 16 512 _

      write the next elements in the series.

  Question 2.

2) A Man is sitting in the last coach of train could not find a seat,     so he starts walking to the front coach ,he walks for 5 min and 

  reaches front coach. Not finding a seat he walks back to last coach              Freshersworld.com 
  and when he reaches there, train had completed 5 miles. what is the    speed of the train

  Question 3.

3) The Old car of Mary requires tyres to be changed after each 24000    km. if she wants to

   go for 42000 km journey then how many minimum

       number of tyres she will need.

  Question 4.

4) A coin is so unbalanced that it may come both heads in 2 tosses as    it may come tails in a single toss. what is the probabality of    getting a head in a single toss.

  Question 5.

5) A pen, pencil and eraser together cost $1.00. if 2E<N , if N>2P, and    3P>4E then what a single pen will cost?

  Question 6.

6) A local forecast service has accuracy of 2/3 says No rain , and    Meteriological service    having accuracy of 4/3 says Rain. if Preference is as no rain what is the chance of rain?                 Freshersworld.com 
  Question 7.

7) Sherlock holmes thrwated the plan to kidnapp Mrs mary when they were questioned Mercy and his    two associated shipy and rany.when they were telling the story one of them told one thing wrong and other true, the other told both true, and the last told both false. examining the following tell the roles played by each

     Mercy:: 1) i wrote the ransome note

             2) shipy broke into the window

   rany    1) shipy wrote the ransome note

             2) mercy ran away with the lady

       shipy   1)i broke into the window

          2)rany wrote the ransome note.

    

Question 8.

 8) Tom asked kim did you like the stamps? she said yes ,me and rob too liked them.          Freshers world.com 
       kim again said that rob got 3 more than he wd have got if i would have kept 2 more than      

       what he got.

       Tom asked how many u gave Rob? she replied 2 more than what i got.

       Tell , how many stamps each rob and kim got?

  Question 9.

 9) The virgo club members used to meet every week to play cards. Each time they used to seat around a round table and for their memory they used all the possiblecombinations of  postions each for a single time only. Can you tell for how many times they met? 

Essays Asked

   If you are given a chance to change a thing in you hometown , what would you 

           change ? give  examples why you want to do so.

              Television is creating a communication gap among young generation.

INFOSYS
1. A person needs 6 steps to cover a distance of one 
slab. 
if he increases his foot length(step length) by 3 
inches he needs only 
5 steps to cover the slabs length. what is the length 
of the each slab. 
  Freshersworld.com 
(ans 31 inches). 
2. There are 19 red balls and one black ball . Ten 
balls are put in 
one jar and the remaining 10 are put in another jar. 
what is the 
possibility that the black is in the right jar. 
  ( The question is bit of confusing but the answer is 
1/2). 
3. There is one lily in the pond on 1st june. There 
are two in the pond 
on 2nd june . There are four on 3rd june and so on. 
The pond is full with lilies by the end of the june. 
(i)On which date the pond is half full. 
  
ans. 29th. --the june has 30 days) 
(ii)if we start with 2 lilies on 1st june when will be 
the pond be full 
with lilies. 
  Freshersworld.com 
(ans. 29th june) 
4.A lorry starts from Banglore to Mysore at 6.00 
A.M,7.00am.8.00 am.....10 pm. 
Similarly one another starts from Mysore to Banglore 
at 6.00 am,7.00 am, 
8.00 am.....10.00pm. A lorry takes 9 hours to travel 
from Banglore to Mysore 
and vice versa. 
(i) A lorry which has started at 6.00 am will cross 
how many lorries.   
(ans. 10 ) 
(ii)A lorry which had started at 6.00pm will cross how 
many lorries. 
  (ans. 14) 
5 .A person meets a train at a railway station coming 
daily at a 
particular time . One day he is late by 25 minutes, 
and he meets the train 5 k.m. before the station. If 
his speed is 12 kmph, what is the speed of the train. 
  Freshersworld.com 
(ans. 60 kmph.)refer--Shakuntala devi book. 
7. A theif steals half the total no of loaves of bread 
plus 1/2 loaf from a backery. A second theif steals 
half the remaing no of loaves plus 1/2 loaf and so on. 
After the 5th theif has stolen there are no more 
loaves left in the backery. What was the total no of 
loaves did the backery have at the biggining. 
  Freshersworld.com 
(ans: 31). 
8. A gardener plants 100 meters towards east, next 100 
meters towards north,next 100 meters towards west. 98 
meters towards east, 96 meters towards north and 96 
meters towards west, 94 meters towards south. 
and 94 meters towards east and so on. 
If a person walks between the trees what is the 
total distance travelled by him before he reaches the 
center. 
ans: |---------------| 
| | 
| | 
| | | 
--------|- | 
---------------------| - 
9. Long division: 
example: 1089709/12 ? 
ANALYTICAL 
4 question---40 marks; 40 minutes; 
------------------------------------ 
1. There are four women and 3 men. They play bridge 
one nigth. Find 
widow among them. 
Rules: 
(i) wife and husand are never partners 
ii wife and husand never play more than one game. 
One nigth they played four games as follows; 
1. ------ + ------ vs ------- + --------- 
2. ------ + ------ vs ------- + --------- 
3. ------ + --*--- vs ------- + --------- 
4. ---*-- + ------ vs ------- + --------- 
the woman are marked * above. 
ans: refer problem 21. mind teasers by Summers. 
2. There are 5 peoples; few of them speak true, few of 
them false. 
Identify them. 
3. & 4.th problems on Venn diagram
  Infosys Sample Test #6    

1. From a vessel, 1/3rd of the liquid evaporates on the first day. On 

the second day 3/4th of the remaining liquid evaporates. What fraction 

of the volume is present at the 

end of the second day. Ans: 50% 

  Freshersworld.com 

2. An orange glass has orange juice and white glass has apple juice 

both 

of equal volumes. 50ml of the orange juice is taken and poured into the 

apple juice.  50ml from the white glass is poured into the  orange 

glass. Of the two quantities, the amount of apple juice in the orange 

glass and the amount of orange juice  in the white glass,      which 

one 

is greater and by how much?  Ans: The two quantities are equal 

  Freshersworld.com 

3. There is a 4 inch cube painted on all sides. This is cut down into 

of 

1 inch cubes. 

      What is the no of cubes which have no pointed  sides.  Ans:  8 

4. Sam and Mala have a conversation. Sam says I am certainly not over 

40 

Mala says I am 38 and you are atleast 5 years older than me   Now Sam 

says you are atleast 39 

All the statements by the two are false. How old are they really?Ans: 

Mala = 38 yrs;  Sam  = 41 yrs.  

  Freshersworld.com 

5. Ram Singh goes to his office in the city, every day from his 

suburban 

house.His driver Gangaram drops him at the railway station in the 

morning and picks him up in the 

evening. Every evening Ram Singh reaches the station at 5 O' Clock. 

Gangaram also reaches at the same time. One day Ram Singh started early 

from his office and came to the station at 4 O' Clock. Not wanting to 

wait for the car he starts walking home. Mangaram starts at normal 

time, 

picks him up on the way and takes him back house, half an hour early. 

How much time did Ram Singh walk? 

  Freshersworld.com 

6. In a railway station, there are two trains going. One in the harbour 

line and one in the main line, each having a frequency of 10 minutes. 

The main line service starts at 5 o'clock and the harbour line starts 

at 

5.02A.M.  A man goes to the station every day to catch the  first train 

that comes. What is the probability of the man catching the 

first train?  Ans: 0.8 

  Freshersworld.com 

7. A family X went for a vacation. Unfortunately it rained for 13 days 

when they were there. But whenever it rained in the mornings, they had 

clear afternoons and vice versa. In all they enjoyed 11 mornings and 12 

afternoons.  How many days did they stay there totally?  Ans: 18 

  Freshersworld.com 

 8. A survey was taken among 100 people to find their  preference of 

watching T.V. programmes. There are 3 channels. Given the no of people 

who  watch at least channel 1;at least channel 2 ; at least channel 3 ; 

no channels at all; atleast channels 1and 3;  atleast channels 1 and 2 

;                                                     Freshersworld.com 

atleast channels 2 and 3  Find the no of people who watched all three. 

9. Albert and Fernandes have two leg swimming race. Both start from 

opposite ends of the pool. On the first leg, the boys pass each other 

at 

18 m from the deep end of the pool. 

During the second leg they pass at 10 m from the shallow end of the 

pool. Both go at constant speed but one of them is  faster.  Each boy 

rests for 4 seconds at the end of the 

  first leg.  What is the length of the pool? 

10. Each alphabet stands for one digit in the  following 

multiplication. 

  

       T H I S 

       x     I S 

      --------- 

      X F X X 

      X X U X 

     ------------ 

   X X N X X 

     ------------   What is the maximum value T can take? Ans:  T max 

value = 4 

Technical Questions in the second round -- 
 1. If 1/4 of the time from midnight plus 1/2 of the time from now to midnight is the present time,then what is the present time ? 
2. In a 10 digit number, if the 1st digit number is the number of ones,2nd digit number is the number of twos, and ... so on. 10th digit is the number of zeroes,then find the number    
3. A train blows a siren one hour after starting from the station. After that it travels at 3/5th of its speed it reaches the next station 2 hours behind schedule. If it had a problem 50 miles farther from the previous case,it would have reached 40 minutes sooner. Find the distance between the two stations . 
4. An army 50 miles long marches at a constant rate. A courier standing at the rear moves forward and delivers the message to the first person and then turns back and reaches the rear of the army as the army completes 50 miles. Find the distance travelled by the courier. 
5. A person grows cabbage, he uses a larger square  this year than previous year and produces cabbages than previous year.what is the no. of cabbages produced this year 

  6. Olympic race : 
4 contestants : Alan,charlie, Darren ,Brain. 
There are two races and average is taken to decide the winner.one person comes at the same position in both the race. Charlie always come before darren. Brian comes first once. Alan comes third atleast once. Find the positions. Alan never comes last. Charlie & darren comes 2nd atleast once. 
8. Problem finding who is husband,wife & son from 4 set of families. 
9. Rank the persons from set of conditions. 
   

IIT BOMBAY 

  1.  Persons A and B. Person A picks a random no. from 1 to 1000.Then person B picks a random no. from 1 to 1000. What is the probability of B getting no. greater then what A has picked.

  2.     Some free body diagram is given


3
|
9


--------------------------------

   2   
|   4


    
|

~~~~~~~~~~~~~~~~~
C

|
5     
|  9





15
~~~~~~~~~~~~~~~~




     3
| 2
       | 


     ~~~~~~~~
      80

    |        |

    A        B
For equilibirium find values of A,B,and C.

 3. Three boys and three girls brought up together. Jim,Jane,Tom,Virgina,Dorthy,and XXX. They marry among themselves to form three couples. Conditions are :

i) Sum of their ages would be the same.

ii) Virgina was the oldest.

iii) Jim was dorthy's brother.

iv) Sum of ages  Jane+Jim and Tom+dorthy is same.

Give the three couples.

 4. X^(1/3) - X^(1/9) =60


Solve for X.

 5. 
X Z Y

       +X Y Z


---------

   
Y Z X     Find the three digits.  

6. Two boats start from opposite banks of river perpendicular to theshore.One is faster then the other.They meet at 720 yards from one of theends. After reaching opposite ends they rest for 10mins each. After that they start back. This time on the return journey they meet at 400yards from the other end of the river. Calculate the width of the river.

Tournament  organisers decided that two consecutive defeats will knock out the team. There are 51 teams participating. What is the maximum no. of matches that can be played.

 8. Three guys are there A,B,C. They have three subjects to take from biology, Mathematics, Physics, Chemistry. The four statements of the guys are given.Only two statements are correct from them

i) -----X--- NOT SURE --- X -----

  9. The Master says to his grandmaster that me and my three cousins have ages in prime nos. only. Summation of our ages is 50. Grandmaster who knows the age of the master instantly tells the ages of the three cousins. Tell the ages of three cousins.( 1 is not considered as prime no.)

 10) There are two families Alens and smiths. They have two children each. There names are A,B,C,D whose ages are different and ages are less then or equal to 11. The following conditions are given.

i) A's age is three years less then his brother's age .

ii) B is eldest among the four.

iii) C is half the age of the eldest in Alens family.

iv) The difference in sum of the ages of Alens children and smiths children is same as that of five years ago. Find the ages of all the childeren.

    

1. There is a escalator and 2 persons move down it.A takes 50 steps and B takes 75 steps while the escalator is moving down.Given that the time taken by A to take 1 step is equal to time taken by B to take 3 steps.Find the no. of steps in the escalator while it is staionary.

2. If 5/2 artists make 5/2 paintings using 5/2 canvases in 5/2 days then how many artists r required to make 25 paintings using 25 canvases in 25 days?

3. If the digits of my present age are reversed then i get the age of my son.If 1 year ago my age was twice as that of my son.Find my present age.
ans. father-73, son-37

4. There are 6561 balls out of them 1 is heavy.Find the min. no. of times the balls have to be weighed for finding out the haevy ball.
ans. 8

5. If i walk with 30 miles/hr i reach 1 hour before and if i walk with 20 miles/hr i reach 1 hour late.Find the distance between 2 points and the exact time of reaching destination is 11 am then find the speed with which it walks.
ans. 120miles and 24 miles/hr

6. There r four face cards (J,Q,K,A) all of different types(diamond,club,spade,heart) and some conditions r given.find the order of cards
ans. king -> jack -> queen -> ace
heart diamond spade club

7. If A,B,C,D,E r 5 members of a family.4 of them give true statements : 
1. E is my mother in law
2. C is my son in law's brother
3. B is my father's brother
4. A is my brother's wife

Who made the stmt. and what r the realtions among them           ans. E
| 
A<-->B--C
|
D
<--> denotes husband-wife
-- denotes brothers

8. The product of 5 different temperatures is 12.If all of then r integers then find all the temperatures   ans. -2,-1,1,2,3

9. If a flight travels between India(IST) and Toronto(TST).There r 2 types of flights slow and fast.

IST TST
SLOW - - 
FAST - - 

TST IST
SLOW - -
FAST - ?

These are the departure times and arrival times for slow and fast flights in IST and TST. then find the time in ? 

ans. 22:40

10.There r 9 cities numbered 1 to 9.From how many cities the flight can start so as to reach the city 8 either directly or indirectly such the path formed is divisible by 3.
eg. 1368-Flights goes through 1-3-6-8.

11. If i do this puzzle i find it to be hard than the last puzzle that i did before that after that..............very complex stmt.
Is that puzzle difficult,easy,can't say or depends on the no. of puzzles
*****************

INFOSYS TEST - , CHENNAI, AFTERNOON 2003          6th JULY

1.i participated in a race.1/5th of those who are before me are equal to 5/6th of those behind me.what were the total number  contestants in the race?       (3 Marks)

  2.Find the 3 digit number.Third digit is square root of first digit.Second digit is sum of first and third digits.Find the number              (3 Marks)

  3.This problem is of time and work type.i dont remember the exact question.the question goes like this.some A and some B are able to produce so many tors in so many hours.(for example 10 A and 20 B are able to produce 30 tors per hour).Like this one more sentence was given.We have to find out the rate of working of A and B in tors/hour.     (4 Marks)

  4.A and B play a game of dice between them.The dice consists of colours on their faces instead of numbers.

A wins if both dice show same color.

B wins if both dice show different colors.

one dice consists of 1 red and 5 blue.  what must be the color in the faces of other dice.(i.e how many blue and how many red?). Chances of winning for A and B are even.     (5 Marks)

  5.A girl has 55 marbles.she arranges them in n rows.the nth row consists of n marbles,the n-1th row consists of n-1 marbles and so on.what are the number of marbles in nth row?      (3 Marks)

  6.This question is of anals type. The question goes like this. I dont remember the question. some sentences reg tastes of people to poetry are given like all who like A's Poem like the poems of B like this 7 or 8 sentences were given questions were based on this.  (8 Marks)

  7.This question is also of anals types.  Four persons are there A,B,C,D.each of the for persons own either    P,Q,R,S.

10 sentences using if clause were given. we have to find out which belongs to whom.        (8 Marks)

  8.This question involves oercentage.i dont remember the question. (5 Marks)

  9.problems on ages. (6 Marks)                   10.Problmes on time and distance.  (5 Marks) 

---------------------

Paper for Infosys99 at iitk. 
1. In the month of october in a year has exactly four mondays and four  fridays, find what day of week wiil be on the 20th of November of that year.                    ans: 20th november was a wednesday. 
  
2. six persons a,b,c,d,e &f went to solider cinima. there are six conseutive seats. a sits in one of the  seats followed by b, followed by c and soon. if a taken one of the six seats , then  b should sit adjacent to a. c should sit adjacent a or b. d should sit adjacent to a, b,orc and soon. how many  possibilities are there?               ans : 32 ways. 
  3. (i)  if alpha = gamma then beta is not = epsilon         (ii) if alpha - beta = beta - gamma then alpha >gamma                                       (iii) alpha > gamma > theta  write all the five in descending order. 
4. in mathematica country 1,2,3,4....,8,9 are nine cities. Cities which  form a no. that is divisible by 3 are connected by air planes. (e.g. cities 1 & 2 form no. 12 which divisible by 3 then 1 is connected to  city 2). Find the total no. of ways you can go to 8 if you are allowed  to break the journies.              ans: 5   
5. ABCDE are sisters .Each of them gives 4 gifts and each receives 4  gifts No two sis give the same combination ( e.g. if A gives 4 gifts to  B then no other sis can give four to other one.) 

(i) B gives four to A. 
(ii) C gives 3 to E.      How much did A,B,C,E give to D.

        ans: 
       Donor     no of gifts 
         A          1 
         B          - 
         C          1 
         D          2 
6. There are some bulbs,which are numbered from 1 to 100.all the bulbs are in on   conditions. The following operations are performed. 
1.those bulbs number which are divisible by 2 are switched OFF. 
2.those bulbs numbered which are divisible by 3 are switched ON (which are already OFF) and OFF bulbs are switched ON. 
3.similarly bulbs numbers divisible by 4 are either switched ON or  OFF depending upon there previous condition. 
4.this procedure is adopted till 100th bulb. At the end there were how many bulbs which were in ON condition.  ans : 10 ( only perfect squares )

 7.there are different numbers related with A,B,C,D,E.such that , 
    AB*CD=EEE. 
    E*CD-AB=CC. 
    find AB*D. 
    ans BE. 
 8.Find the total no of 10 digits whose sum is 4. 
9.Four musician problem(refer GRE BARRONS). 
10.GRE BARRONS problem --> problem no 25 to 28 page no. 4 
11.Logical reasoning tactics practice puzzle poetry. 

1)Henny,Axie,Amie are friends          cond:a)Herry or Axies is the oldest        b)If Axie is the oldest,Amie is the youngest 
  ANS:Amie is the youngest,Axie is oldest 
  2)A,B,C are 3 girls and there are 770 Apples.For   every 4Apples A takes,B takes 3.For ever 6    Apples ,C takes 7 Apples? 
  ANS:261:145:303 
  3)T,U,V are 3 friends digging groups in fields.If T&U  can complete i groove in 4 days&,U&V can  complete 1 groove in 3 days&V&T can complete in 2 days   Find how many days each takes to complete 1 groove individually. ANS:24 days = 
  4)4 mathematician has x apples .if he arranges them   in rows of 3 one will be left.the same is the case with 5,7,9 apples.But when he arranged them in rows of   11 non will be left.Find the no.of apples       ANS:946 
  11*6 
  11*11 
  11*16 
  11*21 
  =2E......11*76 
  =3D946 
  5)H starts running after T reaches   1/5th they must when H reach  1/6th if H wants win at what speed H should be 
run   note:one circle is there,you show this type of    problem   

6)There are 4 months,4 daughter and the colour   of   their dresses ,and they are aged 1,2,3&4 .stat  are in 
  form as the girl with white dresses is see is daughter 
  7)There are 5 levels of dolls and each the diff   colors & condition are given note:this type of problem also refer 
  8)5 student A,B,C,D,E .one student knows 5   languages.like that up to one langauge.states  *)Spanish is most popular langauge 
  *)3 persons knows Porchigese   *)B&C are speakes Englishj when D gathered they    switched to Spanish because that is only common   between the three   *)only langauge common between A,B,E is French   *)only langauge common between C,Eis Italian. 
  ------------------------------------------------ 
     There are passages from A to M.Each one is having four questions.

  A.My father had no brothers.but his three.....

  1.My father was only child. (F)

  2.Three of my aunts have sons. (C)

  3.I have six cousins on my mothers side (C)

  4.I have only one uncle. (F)

  B.Senoir manegers in a leading company..........

  1.Some senoir managers said that more people will want to buy new cars in the future. (F)

  2.Managers told workers that Japanese workers are taking jobs   away form India Workers in the car industry (F)

  3.The managers issued their warning after a rise in interest rates(T).

  4.The increased rate of interest will mean that Japanese firms   will cease to operate in this country.

  C.Reaserchers in Mumbai have found that............

  1.Injecting eather into the gallbladdre dissolves most gallastones.(T)

  2.Surgery is the only treatment for calcium based gallastones(T)

  3.Only a few hundred people suffer from calcium based gallastones(C)

  4.It takes more than one day for the eather to dissolve calcium gallastones. (F)

   Here is a small trick for D,E,F,G

  D. T F T F

  E.F F T C

  F.F F T C

  G.T F T F

  D and G are same and E and F are same.Be carefull.

  -------------------------------------------------

  H. Every form of art is proteted by copyright...........(Tagore)

  1.Tagore plays are not protected by copyright(F)

  2.Tagore's desecendents should be asked to make some contribution  to the arts.(T)

  31.Instead of buying a ticket,theatregoers should pay a fee to a

  trust for the benifit of the arts. (F) 

------------------------------------

1. an escalator is descending at constant speed.   A  walks  down and takes 50 steps to reach the bottom.  B runs down and takes 90 steps in the same time as A takes 10 steps.  how many  steps  are visible when the escalator is not operating.

2. evvery day a cyclist meets a train at a  particular  crossing. the road is straignt before the crossing and both are  traveling in the same direction.  cyclist travels with a speed of 10  Kmph.  One day the cyclist comes late by 25 min. and meets the train 5km before the crossing.  what is the seppd of the train. 

3. . five persons muckerjee, misra, iyer,  patil  and  sharma,  alltake then first or middle names in the full names.  There  are  4 persons having I or middle name of kumar, 3 persons with mohan, 2 persons withdev and 1 anil.  --Either mukherjee and patil have a I or middle name  of  dev  or misra and iyer have their  I or middle name of dev --of mukherkjee and misre, either both of them have  a  first  or  middle name of mohan or neither have a first or  middle  name  of mohan --either iyer of sharma has a I or middle name of kumar  hut  not both.  who has the I or middle name of anil

4. reading conprehension 5. a bird keeper has got Ppigeon, M mynas and  S  sparrows.   The keeper goes for lunch leaving his assistant to watch the birds. a. suppose p=10, m=5, s=8 when the bird keeper  comes  back,  the assistant informs the x birds  have  escaped.   the  bird  keeper exclaims oh no! all my sparrows are gone.  how  many  birds  flew away.        b. when the bird keeper come back, the assistand told him that x birds have escaped.  the keeper realised that atleast2 sparrows have escaped.  what is minimum no of birds that can escape. 

6.  select from the five alternatives A,B,C,D,E    AT THE end of each question ,two  conditions  will  be  given. the choices are to filled at follows. a. if a definete conclusion can be drawn from condition 1             b. if a definete conclusion can be drawn from condition 2                   c. if a definete conclusion can be drawn from condition 1 and 2                d. if a definete conclusion can be drawn from condition 1 or 2                          e. no conclusion can be drawn using both conditions

1. person 1 says N<5                    person 2 says n>5
     person 3 says 3N>20
     person 4 says 3n>10

    person 5 says N<8

whaT IS value of N

a) 1. no of persons who speak false being less than no of persons who tells the truth.

   2. person 2 is telling the truth.

b)  1. no of persong telling the truth  is  greater  than  no  of persons telling lies

    2. person 5 is telling the truth.

7.  there are N coins on a table.  there  are  two  players  A&B. you can take 1 or 2 coins at a time.  the person  who  takes  the

last coin is the loser.  a always starts first

--1. if N=7

     a) A can always win by taking two coins in his first chanse

     b) B can win only if A takes two coins in his first chance.

     c) B can always win by proper play

     d) none of the above

--2.  A can win by proper play if N is equal to

 a) 13   b) 37  c) 22 d) 34   e) 48      ans. e.

--3. B can win by proper play if N is equal to

a) 25   b)26    c) 32   d) 41  e) none

--4. if N<4, can A win by proper play always

8. Two turns have vertain pecular charcteristics.   One  of  them always lies on Monday, Wednesday, Friday.  \the other always lies

on Tuesdays, thursdays and saturdays.  On the other days they tel the truth.  You are given a conversation.  person A--  today is sunday my name is anil     person B-- today is tuesday, my name is bill 

answers for selected questions

2.  equal                          1. 150                     3.  8                              2. 60 kmph           4. 37(M),41(S)                     3.  Mukherjee         5.   45 min.                       8. today is Tuesday               6.   0.8          7.   18                   11.   T max value = 4

                     LOGICAL THINKING TEST 
                     --------------------- 
    1         2 Marks        When Arthur is as old as his father Hailey is  now, he shall be  5 times  as old as his son Clarke is now. By then, Clarke will be 8 times older   than Arthur is now. The combined ages of Hailey and Arthur are 100 years. How old is Clarke ? 
    2         3 Marks          I have one orange glass containing orange juice and another  white glass containing apple juice. I take 50 ml of orange juice and mix it with    apple juice in the white glass. Then I take 50 ml of this mixture and   transfer it back to the orange glass. If you compare amount of apple juice in the orange glass and amount of    orange juice in the white glass which is more than the other and by how much ? 
    3.         3 Marks              The seven digits in this subtraction problem are   0,1,2,3,4,5 and 6. Each letter represents the same digit whenever it occurs.                 D   A   D   C   B                        

                                                       E   B   E   G 
                                                -------------------- 
                                                       B   F   E   G 
                                             --------------------                    What digit is represented by each letter ? 
 4.         4 Marks          The Jones have named their four boys after favourite relatives; their friends, the Smiths, have done the same thing  with their three boys.   One of the families has twin boys. From the following clues,  can you   determine the families of all seven children and their ages ?         i)   Valantine is 4 years older than his twin brothers.       ii)  Winston, who is 8, and Benedict are not brothers. They are each  named after a grandfather.           iii) Briscoe is two years younger than his brother Hamilton, But three years older than Dewey.        iv)  Decatur is 10 years old.       v)   Benedict is 3 years younger than Valentine; they are not related.       vi)  The twins are named for uncles. 
      5         4 Marks  


 A leaves shore P as B leaves Q; they move across the lake at        a constant speed. They meet first time 600 yards from P. Each returns   from the opposite shore without halting, and  they meet 200 yards from                                              Q. How long is the lake 
 6        4 Marks       Fanta, Pepsi and Citra often eat dinner out. 
        a) Each orders either coffee or tea after dinner.           b) If Fanta orders coffee, then Pepsi orders the drink that Citra orders.      c) If Pepsi orders coffee, then Fanta orders  the drink that Citra does      not order.          d) If Citra orders tea, then Fanta orders the drink that Pepsi  orders.       Which person/persons always orders the same  drink after dinner 
 7         6 Marks         On the Island of imperfection there is a special road, Logic Lane, on which the houses are usually reserved for the more mathematical  inhabitants.  Add, Divide and Even live in three different houses on this road (which has houses numbered from 1-50). One of them is a member of the  Pukka Tribe, always tell the truth; another is a member of the Wotta Tribe, who never     tell the truth; and the third is a member of the Shalla Tribe, who make statements which are alternately true and false, or false and true.       They make statements as follows :       ADD     : 1 The number of my house is greater than that of Divide's.             2 My number is divisible by 4.                   3 Even's number differs by 13 from that of one of the  others.

       DIVIDE  : 1 Add's number is divisible by 12.                 2 My number is 37.              3 Even's number is even. 
 EVEN    : 1 No one's number is divisible by 10.              2 My number is 30.                       3 Add's number is divisible by 3. 
Find to which tribe each of them belongs, and the number of each of their houses. 
    8         8 Marks               The names of the inhabitants of Walkie Talkie Land sound strange to the visitors, and they find it difficult to pronounce them, due to their   length and a few vowel sounds they contain. The Walkie Talkie guide is discussing the names of four inhabitants -           A,B,C and D. Their     names    each contain upto eight syllables, although  none of the four names   contain the same number. Two of the names contain no vowel sounds; one  contains one vowel sound; and one contains two vowel sounds. From the Guide's statements below, determine the number of syllables   and vowel sounds in each of the four Walkie Talkie names :            i)  The one whose name contains two vowel sounds is not A.                        ii) C's name does not contain more than one vowel sound or fewer than  seven syllables.                 iii)The name with seven syllables does not contain exactly one vowel   sound.                       iv) B and C do not have names with the same number of vowel sounds.              v)  Neither the name with five syllables nor the name with seven syllables  contains more than one vowel sound.             vi) Neither the name with six syllables, nor the B's name, contains            two vowel sounds. 
  9         8 Marks         Multiplication and Division



         (1)    - - - - -  (a)          (2)          _ 
_ . _    (d)                                           
________________ 
                  - - -  (b)          - - -) - - - - 
- . 0 
             _________________                 - - - 
_______________ 
              - - - - -                                 - - - - -                            - - - 
- 
         ___________________                     - - 
- 
_______________ 
          - - - - - - -  (c)                       
                                                   - 
- - 
                                                   - 
- - 
========              (1) and (2) represent the same two numbers - in one case multiplied  9together, in other case divided.   Given that there are no 3's. find the missing digits indicated as          (a), (b), (c) and (d) above ? 
  10.              8 Marks                  Two identical twins have a very unusual characteristic.   One tells    nothing but lies on Mondays, Wednesdays and Fridays, and tells nothing     but the truth all other days. The other tells nothing but lies   on  Tuesdays, Thursdays and Saturdays, and tells nothing but the truth   all other days. On Sundays both children speak the truth.

       1) Which of the following statements can be deduced from the  information presented ?                   i)  If it is Sunday, the twins will both say so.          ii) If it is not Sunday,one twin will give the correct day and  the other will lie about everything.       iii)On any given day, only one twin will give his correct  name. 

                  a)  i only 
                b)  i and ii only 
                c)  i and iii only 
                d)  ii and iii only 
                e)  i,ii and iii
   2) According to the information presented, which of the following  conversations will be impossible. 
 a) Twin A  :  "Today you are a lier"   Twin B  :  "You are telling the truth"  b) Twin A  :  "Today you are a lier" Twin B  :  "Today I am a truthteller"  c) Twin A  :  "Tommorow I shall be a lier"  Twin B  :  "That's correct" d) Twin A  :  "Tommorow you will be a lie  Twin B  :  "Today you are a truthteller"  e) Twin A  :  "Yesterday we were both truthtellers" Twin B  :  "You are lying"  3) Assume that the twins followed a differentzset of  rules, so that on  a given day both told only the truth while next day  both only lied, alternating days of truth telling and lying. Under these  rules,which   of the following conversations would be possible ? 
 a) Twin A  :  "Today you are a lier"  Twin B  :  "That is correct" 
 b) Twin A  :  "Today you are a lier"   Twin B  :  "That is not so" 
 c) Twin A  :  "Tommorow we will be liers"  Twin B  :  "Yesterday we were truthtellers" 
       d) Twin A  :  "Tommorow we will be liers"  Twin B  :  "You are 1 year older than I am" 
       e) Twin A  :  "We always tell the truth"   Twin B  :  "We some times tell the truth" 
  4) If the twins are heard saying the following on the same  day, which   choice presents a correct statement ? 
 Twin A   :   "It is Sunday Today" 
  Twin B   :   "Yesterday was Sunday" 
  Twin A   :   "it is summer season now" 
   a) it is a summer sunday 
   b) it is a summer monday 
   c) it is Monday but not summer 
         d) it is Sunday but not summer 
         e) it is impossible to determine whether it is Sunday or  Monday. 
    

yr   2000 Infosys Technologies ltd  Aptitude Test 9th july 2000    
1.A boy picks up the phone and asks" who are you?"  The voice from the other side answers" I am your  mother's mother in law".What is the relation of the boy with the fellow speaking at the other  end.(3marks). 
2.Imagine a rectangle.Its length=2*width.A square of 1 inch is cut on all corners so that the remaining portion forms a boxwhen folded.the volume of the box is_____ cubic  inches.find the original dimensions of the box. (3 marks). 
 3.    2 persons are doing part time job in a company9say a  and b).  THe company is open for all the 7 days of the week.'A'  every second day.'B' works every 3rd day.If 'A'works on 1st june and 'B' works on 2nd june.Find out the date on which both 'A' and 'B' will work together. (4 marks).  



4.Consider a pile of Diamonds on a table.A thief enters and steals 1/2 of th e total quanity and then again 2 extra from the remaining. After some time a second thief enters and steals 1/2  of the remaining+2.  Then 3rd thief enters and steals 1/2 of the remaining+2.Then 4th thief enters and steals 1/2 of the remaining+2.When the 5th one enters he finds 1 diamond on the table.Find out the total no. of diamonds originally on the table before the 1st thief entered. (4 marks).

5.Imagine 4 persons A,B,C,D.(It is a strength determining game). A found it hard,but could pull 'c' and 'd' to his side. AC and BD pairs on opposite sides found themselves equally balanced. When A and B exchanged thier positions to form pairs AD and BC ,BC pair could win and pull AD to thier side.Order the 4 persons in Ascending order according to thier strengths. (3 marks). 
 6.Consider a beauty contest.3 persons participate.Their names are Attractive, Delectable,Fascinating.THere 3 tribes Pukkas,Wottas,Summas. Pukkas - Always speak truth. Wottas - Always speak lies. Summas - Speak truth and lies alternatively. Each of the 3 persons make 2 statements. Attractive - (1) 
(2) Delectable - (1) i don't remember 
(2) 
  
Fascinating- (1) 
(2)The person who speaks truth is the least beautiful From the statements they give and the character of the 3 tribal types, find out which person belongs to which tribe.Also find out the persons in the Ascending order of their beauty. (8 marks). 
 7.There are 5 positions-Clerk,Buyer,Cashier,Manager,Floorwalker. THere are 5 persons-Mrs.Allen,Mrs.CLark,Twain,Ewing,Bernett. Conditions: 1.clerk and cashier lunch time 11.30.to12.30                           2.others 12.30 to 1.30                            3.Mrs.Allen and Bernett play durind lunch time.                   4.clerk and cashier share Bachler rooms.                            5.Ewing and Twain are not in good terms because one day when Twain retuned early from lunch  he saw Ewing already sitting fro lunch and reported  about him to the manager. Find out which person holds which post. (8 marks). 



8.There are 8 courses to be handled by faculty in 2 semesters.4 in 1st semester and 4 in 2nd semester THe candiadates hired for the post are k,l,m,n,o.The courses are Malvino,Shakespeare,Joyce,Chauncer........... Some conditions will be given like.,                          1.L and N handle Shakespeare and malvino.                        2.M and O handle Malvino and Joyce.           3. .......        4... i don't remember.. 
8. ...... Only one author can handle a course in 1 semester. then 3 questions were asked based on these information and  3 options for each question were given (8 marks). 
INFOSYS -2000 IISC Bangalore 

 [Q:1] Find a five digit number subject to following conditions
a. It contains 2 prime no digits               b. 3 rd digit is the lagest     c. 1st digit = (3 rd digit - 1)             
c. sum of 4 th digit and 5 th digit is less than 1 st digit and             d. Value of the 5 th digit lies between the value of 1 st digit and  2 nd digit, 5 th digit is one half of the 4 rh digit  ANS: 71842 (6 marks)

  [Q:2] 1, 2 , 3, 4 digits are available.How many no of 4 digited  numbers which  are  divisible by 4 (There should be no repetition of digits in  the nos)can  be formed? ANS: 6 nos

 [q:3]  Conversation between two employees is as follows   EMPLOYEE-1: Hellow! Now your experience is twice the my experience  EMPLOYEE-2: EXACTLY TWO TIMES                                                                                                                                 EMPLOYEE-1: But at the last meet, you said that your experience is  thrice of  my experience                                             EMPLOYEE-2: That is when we met at 2 years back, your experience is thrice that of yours
        Tell experience of two employess with the company? 
   ANS: EMPLOYEE-1: 4 years   EMPLOYEE-2: 8 years

[q:4] A hill of 440 yards is there. Two competitors JACK and JILL go up the hill, first JACK reaches the topmost and immediatly starts back and meet  JILL 20 yards from the topmost point. Finally JACK reaches the starting point 0.5 minutes earler than JILL.Speed while coming down is 1.5 times 
the speed of going up.Find the time taken by JACK for whole journey(880 yards)? ANS: 6.3 minutes

 [Q:5] A merchant in the last day sells
2 lamps for Rs.12 price. He finds that he has got 25 % gain on one and 20% lost on the other. Did he loose or gain overall?
If so how much?ANS: 60 paise LOSS

  



[Q:6] 4 persons are there caledd JOHN, JACOB, PITER, and WILLIAMS
4 laungages are there
named ENGLISH, ITALIAN, GERMAN, FRENCH      

CONDITIONS:
a. There is no common language for all


b. Except one language, no language is spoken by more than two


c. One can know either German or FRENCH but not both

d. John can't speak ENGLISH But John can act as interpreter between JACOB and PITER. Jacob knows GERMAN but he can tailk with WILLIAM who doesn't know a word  of GERMAN

e. No common language between JOHN, PITER, and WILLIAMS  Which two languages does each person speaks? (8 marks)         hint: ITALIAN IS SPOKEN BY THREE PERSONS( This hint is given in Question paper) 

[Q:7] 5 couples are there.
MEN: L, M, N, O, P                         WOMEN: S, T, U, V, W
10 seats are in one row.Odd numberd seats are reserved for MEN only 



Like that many conditions are there. This problem from GRE-BARRONS BOOK

ESSAY WRITING: EASE MACHINE SOON REPLACES MAN


       In what way Industry helps socity positively

INFOSYS TEST @ NAGPUR - 2000 
questions 
1. there were three suspects for a robbery that 
happend in a bank, tommy, 
joy and bruceEach of them were saying that I haven't 
done anything and the 
other two has done it.police found that tommy was 
lying .who is the thief. 
3M (MARKS). 
  
2. three clocks where set to true time .First run with                                      Freshersworld.com  
the exact time 
..second slows one minute/day. third gains one 
minute/day. after how many 
days they will show true time. 3M. 
  
3. A,B,C,D,E are some numbers.if AB * CD = EEE and CD 
- A =CC 
THEN what is AB * D =? IN SAME CODE .5M. 
  



4. Joe started from bombay towards pune and her friend 
julie in opposite 
direction.they meet at a point .distance travelled by                        Freshersworld.com  
joe was 1.8 miles 
more 
than that of julie.after spending some both started 
there way.joe reaches 
in 
2 hours while julie in 3.5 hours. 
Assuming both were travelling with constant speed.Wath 
is the distance 
between the two cities. 5M. 
  



5. In a six level building,a person lives .suppose the                                    Freshersworld.com  
persons are 
A,B,C,D,E,F. --- and there were few clues like--- 
A cann't live above third level, 
B cann't live above A and below C.-- i am recalling 
each.did u understood 
the question-- 
u have to find person living at each level. 5M 
  



6. There were some containers of quantity 
1,3,4,5,6,12,15,22,24,38 
liters.each was filled with some liquid except one.the 
liquids are milk, 
water and oil.quantity of each was like this                              Freshersworld.com  
water = 2* milk 
oil = 2* water 
find out which container was empty and cantainers 
filled with milk and 
oil. 
6M 
  



7. there were few diamonds. 
1st thief takes half of the diamonds +2 
2nd thief takes half of the diamonds +2 
3rd thief takes half of the diamonds +2 
4th thief takes half of the diamonds +2 
when 5 th thief arives there were no diamonds. find                          Freshersworld.com  
total no. of diamonds. 
(ans 60) 6M. 
  



8. there were five hunters A,B,C,D,E and five animals 
A,B,C,D,E. Hunter 
having the same name with the animal didn't kill it. 
Each hunter has 
missed 
some animal. 
A animal was hunt by the hunter whose name matches                               Freshersworld.com  
with animal hunt by 
hunter B. 
C animal was hunt by the hunter whose name matches 
with animal hunt by 
hunter D. 
E has hunt C and missed D .find out animals hunted by 
A,B,C. 6m. 
  



9. Five students A,B,C,D,E. 
when conversation started B,C were speaking 
english.When D join them they 
shifted to Spanish.A,E knows French .B,E knows 
Italian.Portoguese was 
known 
to there of them.Spanish was the most common language                         Freshersworld.com  
between them. 
one of them knows five languages. 
one of them knows four languages. 
one of them knows there languages. 
one of them knows two languages. 
one of them knows only one languages. 
  
A knows ? 4 options 
B knows ? 4 options 
C knows ? 4 options 
E knows ? 4 options 8M
infosys paper 2000 given at iitbombay

 questions are not in order

 1) x**(1/3) - x**(1/9) = 60    note: ** is power of

 symbol

    find x?

  ans: 4**9. or 64*64*64  both ans are same.

 

 2)x,y,z are different digits.find them using the

 following addition

 

 
x y z

 
x z y

 
-----

 
z y x

 
-----

 ans: x=4, y=5, z=9;

Freshersworld.com     
 3)one person chooses a number between 1 - 1000

 including 1 and 1000. Then

 other person chooses a number from same limit. then

 what is the

 probability that other person chooses the number

 less than first one.





 ans:999/2000 =0.4995

 4)51 teams are there and they are to play basketball

 matches. A team is

 out of the tournament if that looses 2 games. what

 is the maximum number

 of games to be played to decide one winner.

Freshersworld.com     
 ans:101 matches

 

 5) Two persons A and B met. A told B " myself and my

 3 cousins have ages

 which are prime numbers and sum of our ages is 50.

 If you know my age then

 you can tell their ages. what are the ages of

 cousins?"

 ans: 3,2,2 and myself is 43





 6)Two ships start from the opposite banks of river

 perpendicular to banks.

 Both are going at constant speed. One is faster than

 the other. They meet

 at 720 m from nearest bank. Then they go ahead upto

 the other end of banks

 and wait there for 10 minutes. Then they again come

 back and meet 400m far

 from the other bank. find out what is the width of

 river.

 ans: 1720 check again

Freshersworld.com      
 7)the following balance is perfectly balanced with

 weights.

  



 


|

 

   2m
|  6m

 
----------------

 
|
|

 
15kg
c

 
|

 
----------------

     5m
| 3m
|

   -----------
80kg

   |
    |

   B         A

 

 find values of A, B and C (some lengths of arms are

 not available with us)





 ans: 100,60,85.

 8)Both the guptas and sinhas have two young sons

 whose ages are under

 eleven. The names of the boys, whose ages roundedoff

 to the nearest year

 are all different, are rajesh, praveen, lalith and

 prathap.

 
taking the ages of the boys only to the nearest

 year, the

 following statements are true

 
1) rajesh is 3 years younger than his brother is

 
2) praveen is the oldest

 
3) prathap is 5 years older than the younger sinhas

 boy.

 
4) lalith is half as old as one of the gupta boys.

 
5) the total ages of the boys in each family differ

 by the same

 amount today as they did five years ago.





 ans: gupta
sinha

      pratap=10
praveen=11

      rajesh=7
lalit=5

 9)A,B.C are 3 students. they have taken 3 subjects

 out of 4 subjects

 biology, maths,history,chemistry. A,B,C given

 following statements of four

 each. out of those 2 are true and 2 are false of

 each one. find out the

 subjects taken by them.

Freshersworld.com    
 A statements:

 
a)we take only one subjects in common.

 
b)no two of us have all subjects common.

 
c)only i take maths

 
d)if c tells that me and B are taken chemistry,

 then it is wrong.

 B statements:

 
a)we only take biology common

 
b)me and c have all subjects common

 
c)two of us have taken both biology and chemistry.

 
d)

 C statements:

 
a)we only take maths

 
b)A and B are taking chemistry

 
c)A has taken a subject that i have not taken

 
d)





 10)6 students are there. they are friends since

 childhood. after they

 grown us they became 3 couples. that is they are 3

 boys and 3 girls.

 say a,b,c,d,e,f.the following are the statements

 given

 1)b is the oldest girl

 2)some of the ages of any two couples are same

 3) d is the brother of a

 4) sum of the ages of b and e equal to that of c and

 f.

 find out the couples.

 essay:  
internet revolution.

  

INCLUDES INFOSYS PAPERS FOR YEAR 2000 
HELD AT IISc AND NAGPUR.   
  Freshersworld.com 
INFOSYS TEST @ IISC - 2000 
  
1:there is a robery and four persons are suspected out 
of them one is 
actual 
thief, 
these are the senteces said by each one of them! 
A says D had done 
B says A had done 
C says i dddnt done 
D B lied when he said that i am thief 
  
  
out of these only one man is true remaining are false 
ans C is thef,D is true! 
maks 3 
  
Freshersworld.com      
  2 how many four digit numbers divisible by four can be 
formed using 
  
1,2,3,4;repetions are not allowed! 
ans 6; 
marks 4 
3 a vender solds two things at same cost 12 RS with 
one item at 25%profit 
and other at 20%loss,by this transaction he made 
profit or loss by how 
much 
ans loss,60paise 
    marks 3 
   
Freshersworld.com      
4 two friends A,B are running up hill and then to get 
down! 
length if road is 440 yards A on his return journy met 
B goin up at 
20 yards from top,A has finished the rase .5 minuit 
earlier than 
B,then how much time A had taken to complete the rase. 
  
ans 6.3 minuits 
marks 4 
  
5 barons question diagnostic test question 8-12,5 men 
and 5 women went for 
foot ball match......... 
  
marks 8 
  
6 write a five digit number , 
which will be having two prime numbers, 
and some two more conditions,like 1st digit greater 
than 2nd etc 
its easy(remember one is not a prime number,most 
people don mistake 
taking 1 
as prime number) 
  
ans 71842 
  
5 marks 
  
Freshersworld.com      
7 two employs were there 
employ one says to employ two your work ezxperience 
twice as me 
emp2 exactly 
emp1 but two years before you said that your work 
experience is 
thrice as me 
emp2 yes its also true 
what are their work experience 
ans 4,8 
marks 3 
Freshersworld.com      
8 ther are four persons A,B,C,D and for languages 
english ,french 
,german 
italian, 
conditions 
1 only one language is spoken by more than two men 
2 A dont know english 
3 a man can speak either french or german but not both 
4 all man cannot spek in a group(no common language) 
5 A can mediate when B and C want to speak with each 
other 
6 each men can speak two languages 
ans 
A french italian 
B english french 
C german italian 
D german italian 
    Freshersworld.com      
marks 7 
  
9 there are 3 women ,they having three jewells,named 
diamond emerald 
,ruby   
3 women A,B,C 
3 thiefs D,E,F 
each thef had taken one jewel from each of the women 
following conditions 
one who had taken diamond is the bachelor and most 
dangerous 
D 's brother in law E who is less dangerous than the 
thief who had 
-------------------------------------------------------------------- 
stolen emerald 
-------------- 
(this is the key from this e had stolen ruby) 
D did nt stolen from B 
one more condition is there 
  marks 7 
  
10 ther were five persons out of which two persons 
heir went white 
and three persons hair is black 
conditions 
if A 's hir is white then B'hair is white 
A,s hair is not blakck if C's hair is not black 
two more conditions 
but we can easily solve it from first codition 
ans is Aand B's hair is white 
marks 5 
  
essay 
in this age of super computer computer will repalce 
man! 
  
what is contribution of industry towards humn growth 
    
Freshersworld.com      
interview questions! 
  
1 two time glases 7,4 how you measure 9 
2 four persons have to cross the bridge they are 
having one torch 
ligt 
four persons take 1,2,5,10 minuits respectively , 
when two persons are going the will take the time of 
the slowest 
person 
whats the time taken to cross allof them 
  
ans 17minuits 
3 a non uniform rope burns for one hour how you will 
measure 
half an hour 
ans lit it from both sides! 
   

Infosys-2000, IIT Delhi 
1)mr. x (got paramvir chakra in 1971) died  when his age was 1/59th the year of  birth.what was his date of birth? ans-1947

  2)there are 6561 number of balls in a bag. out of which one is heavy ball. in how many minimum number

of weighing you can find the heavy ball. ans-8.

  

3) the profit made by a company in one year is enough to give 6% return on all shares.but as the preffered shares get on return of 7.5%, so the ordinary shares got  on return of 5%.if the value of preferd shares is

rs-4,000000, then what is the value of ordinary shares?  ans-6,000000.

 Freshersworld.com
4)there were 50 players playing a game among themselves. each player is out of the  game when lose 3 matches. what is the number of matches should be plyed in  order to get the winner.

 



 5) A & B two places. C & D are two people.c started from a and d started from b.  when they meet each other in the way c traveled 18m more than d. than c takes 13 and half a minute and d takes 24 minutes to reach the other end.what was the  distance between a & b.  ans-126.

 6) i have been hearing a girl singing a song for last two score.

 song: if seven times five and three times seven is added to my age it would be as  far above six nines and four as the difference between twice of my age and a  score.  given-a score is 20 yrs.

 Freshersworld.com
 7) A tourist wants to go from a to b. there are four ways to do this.

    1. to take a wagon. the wagon stops for half an hour at a station in between a & b and then goes to b.

    2. to walk to b. if he leavs a at the same time the wagon leaves, he will be between by the wagon by 1 mile to reach b.

     3. to walk from a at the same time the wagon leaves from a. he will arrive at the mid  station at the time when the wagon is prepared to leave. He can take the wagon from there. this will take shortest time.

     4. to go on upto the mid station & to walk from there.         he will reach at b 15 minutes before the

wagon. what is the distance between a & b ?.       

  



8) in a train there is one brakeman, conductor, engineer &fireman. thair names are Art, John, Tom & Pete given in this order or in reverse order. you have to tale the occupation of the 4, w.r.t. these conditions:

     1.brakeman has no relatives.

     2.john is older than art.

     3.engineer & fireman are brothers.

     4.john is pete's nephew.

     5.fireman is not conductor's uncle.

     6.conductor is not engineer's uncle.

  Freshersworld.com 

8) contd

   
ans: pete & tom are brothers.

   
tom--father and john is his son.

   
art--brakeman.

   
john--conductor.

   
tom--engineer.

   
pete--fireman.

   




9) there is a 18 strong building and 4 people live in it. they are dentist,  lawyer, accountant, architect.(i am giving only a part of the question)

     --dentist floor is 5 times the lawyer' floor.

     --account is below dentist.

     --if archetect moves two floors up he will be midway between dentist and account.

    ---if architect moves to midway of the building (9th floor) then he will be  middle of dentist & lawyer.

    ---ground floor can be ignored i.e. floor 0.

    ans--dentist 15.

    accountant  13.

    archetect--12.

    lawyer-- 3.

   



10) 4 ladis,  mrs margarat, mrs price, mrs winter & mrs ellen went for marketing. Each went for 2 shops only.

       their surnames are  lorret,torrey, doris and marshall.

       --one went to a hardwares shop.

       --two went to bank.

       --two went to buchers.

       --all but dorris went to grocery.

       collection---mosarraf.

       typed------binoy.   

  

-----Original Message-----

From: chitratan singh 

Sent: Wednesday, June 04, 2003 11:11 PM

To: CHETANA-JOBS@yahoogroups.com

Subject: [CHETANA] SOME TIPS AND INFO ABOUT INFOSYS PREP...

SOME TIPS AND INFO ABOUT INFOSYS PREP...

hi guys, 

infosys tests arent very difficult. but they require

some amount of preparation. all the sums are based on

fundamental class 10-12 concepts. very simple speed

distance problems. 

u need to follow the foll. books. these 3 books are

moooooooooooooore than sufficient. 

1. PUZZLES TO PUZZLE YOU - By SHAKUNTALA DEVI 

q.no.

2,3,11,12,17,23,27,37,38,45,51,63,66,108,117,124,128,130,145,148

2. MORE PUZZLES  - By SHAKUNTALA DEVI 

q.no. 

193,221,244,275

3. GEORGE SUMMERS BOOK

starte with the puzzles to puzzle book importance to

each and every question. genrally problems having

comaplex figures and 2-page questions will not be

asked. u need to give importance to the questions ive

listed above. more or less these questions are

reframed or the same concepts are tested. initially

when one starts preparing he may find it very

difficult. but i guess it wud be only a starting

problem. one shudnt get demoralised by this starting

problem. u can always refer to the solutions (only

after having tried ur best at solving them w/o help) .

at times the solutions may also sound a lil greek and

latin, but u need to spend time on it... u shud know

this book in and out. 

SPEED PROBLEMS, TRAIN PROBLEMS, SIMPLE PROBABILITY AND

PERMU-COMBI problems are frequent. 

once ur thro with PUZZLES TO PUZZLE YOU - By

SHAKUNTALA DEVI u can move over to  MORE PUZZLES  - By

SHAKUNTALA DEVI. most of the problems here are

repeated or rephrased from (PUZZLES TO PUZZLE YOU - By

SHAKUNTALA DEVI). 

then u can use the GEORGE SUMMERS BOOK. try working

out a 2-3 problems from the GRE BARRONS book -

analytical section - the ones with 4 subdivisions. -

any person who has taken up his/her  GRE can easily

help u loacte such questions in the book. these are

very simple questions. they dont involve much time or

thinking. and these always feature in ur test. they

are generally with 4 subdivisions carrying 8 marks on

the whole.

after all this is over u can move over to THE QUESTION

papers. start off with the latest available papers and

  then move on to the old ones. u have plenty of them

put up on the yahoo groups. . once ur thro with 4-5

papers itself, u'd have a clear idea of what problems

are asked and what fundas are tested. 

but REMEMBER NEVER START OFF WITH THE QUESTION PAPERS,

it will never help. 

take the exam witha cool-head. FAALTU KA TENSION will

never help u.  u shud be able to time urself.

initially scan the paper, if u come acros any stereo

type problem just finish it off phat-a-phat. it wud

boost ur confidence. then approach  the rest proble.s

dont get stuck anywhere. MBA aspirants (ppl who have

given CAT and mock cats) wud have an edge in this

paper timing stuff..

all the best guys...... i hope this helps u ppl.....

bye

luv

chit
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-----Original Message-----

From: nishant gupta 

Sent: Wednesday, July 02, 2003 11:39 AM

To: chetana-jobs@yahoogroups.com

Subject: [CHETANA] I too got selected in infy : Some tips from me !

hi friends

ive too got selected in infy blore i gave test on 8th june..

i agree with vikas on the idea that firs try to answer easier questins 

and the paper has fair amount of easy questions also  like :

1. 

there are two colcks one runs 1min/hrs faster and other 1min/hr slower 

when will the two clocks have time time difference of 1 hr : 

ans : 30hrs

2. 

i take a taxi whose no is 3 digit no. it is not divisible by 2,3,5,7 

but divisible by 11 it is the smallest no possible: 

ans : 121

3. 

three friends start with x marbles each after first round A gives ...to B...toC, 

after second round B does similar , after 3rd round C does similar, 

they have now marbles as ..... How many marbles they started with: 

ans : 20 

simple trick is to form equation and solve backwards

---

there is bound to be one 8 marks ques of complex arrangement.. 

so prepare for that. cat material on complex arrangement is also 

sufficient for that

--

there is good possibility of ques from clocks,calender,permutation,

comb,probability

--

in time,speed,distance the 8th june paper had distances and speeds in 

different units like inches,feet,m,yards etc so prepare for 

distance conversion formulae

--

The english section is quite easy with simple grammer,

fill in the blanks,(7th class)level passage, spelling mistakes, 

it can also have analogies syllogisms etc.

so all of u preparing for infosys paper on 6th jul BEST OF LUCK.....

bi

Nishant
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-----Original Message-----

From: R.C.Mouli 

Sent: Monday, August 11, 2003 3:17 PM

To: chetana-jobs@yahoogroups.com

Subject: [CHETANA] I got through INFOSYS - some tips for infy aspirants

hello friends,

i took the infy test on 6th july(Chennai,Afternoon).

i didnt get any mail from INFY...

so i called up INFY banglore 1 week back and they said that 

i have cleared the test and i'll be intimated officially in 2/3 weeks.

i thank the owner,the moderators and all members of chetana-jobs group 

for circulating old infy question papers and for their valuable suggestions.

then for infy aspirants....i prepared from the following books

1.puzzles - shankuthala devi

2.more puzzles - shankuthala devi

3.mind streching puzzles - terry h.stickles

4.critical reasoning puzzles - norman d.willis

5.brain teasers - george summers

6.gre barrons(analytical reasoning)

i prepared analytical reasoning from 14th edition...

in the test i got a 8 mark anlytical question...

i found it to be difficult...

then i came to know that it was a question from 10th edition of barrons.

alaytical question are difficult in older editions of barrons.

so i would suggest infy aspirants to prepare anals from old editions of barrons.

after very good preperation if u find that the question paper is difficult...

dont lose heart...do whatever u know...

when the question paper is tough the cut-off will be low and there 

is every chance that u may get thro'....

so attempt the test with full confidence...

for english part no preparation is needed as only very basic questions are asked....

then very rarely only questions get repeated in INFY tests

(if u r lucky enough u may get questions repeated)...

so first be prepared with the books....

then go thro' all question papers to have a feel of the test....

ALL THE BEST to all INFY aspirants and other freshers hunting for a job..

this was the question paper i got in the test

INFOSYS QUESTIONS(6ht JULY 2003,Chennai,Afternoon)

1. Analytical question. 6 poets, liking and disliking

of poetry E.g.: All who like the poetry of Frost do

not like the poetry of Coolidge. Some who like the

poetry of Dunne like the poetry of Earl. 4 related

questions.  

2. Analytical question. 4 people, 4 products. E.g.:

Vickie will not get a tie unless George buys a scarf.

Remmie will not get a hat unless Jack buys gloves. 

Around 12 statements like this. Who will buy what? 

3. 13 kigs and 6 libs can produce 510 tors in 10 hrs,

8 kigs and 14 libs can produce 484 tors in 12 hrs,

find the rate of production of tors for kigs and libs.

Express the answer in tors/hr. 

4. Find the 3 digit no. whose last digit is the square

root of the first digit and second digit is the sum of

the other two digits.  

5. Meera was playing with her brother using 55 blocks.

She gets bored playing and starts arranging the blocks

such that the no. of blocks in each row is one less

than that in the lower row. Find how many were there

in the bottom most row?

6. Rahul took part in a cycling game with many others

in a circular closed circuit. After pedaling for

several minutes, he found that 1/5th of the cyclists

ahead of him and 5/6th of the cyclists behind him

together formed the total no. of participants. How

many were participating in the race?

7. Age sum involving 3 people. Similar to sum no. 127

in Shakuntala Devi but very much tougher than that

sum.

8. Tom wants to catch a hare. He is standing 250 yards

south from the hare. The hare starts moving due east.

Tom, instead of moving in the northeast direction,

moves in such a way that at every instant, he is going

towards the hare. If speed of tom is one and one-third

times that of the hare, find the distance each

traveled before he caught the hare.

9. Two people are playing with a pair of dies. Instead

of numbers, the dies have different colors on their

sides. The first person wins if the same color appears

on both the dies and the second person wins if the

colors are different. The odds of their winning are

equal. If the first dice has 5 red sides and 1 blue

side, find the color(s) on the second one.

10. A company's director said during the board

meeting: " The company's income from roads will be

sufficient to pay 6% of the entire stock issue, but

since we are paying 7.5% interest on the preferred

stock of Rs.4, 000,000 we are able to pay only 5% of

the common stock". Find the value of the common stock.

best regards,

Chandramouli.R

Chandramouli.R

#55 NSC Bose Street

Pondicherry 605 001.

Phone: 0413-2337426/2220835
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Infosys
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They given 12 puzzles for 50 marks

___________________________________________________________________________________

Question # 1

-------------

Five people A ,B ,C ,D ,E are related to each other.

Four of them make one true statement each as follows. 

(i)  B is my father's brother.        

(ii) E is my mother-in-law.

(iii)C is my son-in-law's brother

(iv)A is my brother's wife.

who made these statemens and what are the

relationships among them?

( 8 marks)

Ans:    

(i)   D

(ii)  B 

(iii) E

(iv)  C

___________________________________________________________________________________

Question # 2

-------------

fathers wife is reverse of son`s age . one year

back faters age was twice of son`s age . what`s the

fathers current age 

ans : 73

___________________________________________________________________________________

Question # 3

-------------

An escalator is descending at constant speed. 

A walks down and takes 50 steps to reach the

bottom.

B runs down and takes 75 steps in the same time as

A takes 3 steps. 

How many steps are visible when the escalator is

not operating? 

Ans: ????

___________________________________________________________________________________

Question # 4

-------------

a man asks a weatherman what`s the past five days

temp? he says i didn`t remember but i can say their

product is 12 and all are diff temperatures. what are

the five temperatures?

ans: -2,-1,1,2,3

___________________________________________________________________________________

Question # 5

-------------

there are 100 men among them 80 have telephones and

70 have cars  and some 75 have houses and 85 have

mobiles.(data is not exact) . what is the minimum

number of men that have all these things.?

___________________________________________________________________________________

Question # 6

-------------

there ia truck which should reach some place at

11`o clock , if it travels with 30 mph it reaches i

hour before , if it travles with 20 mph it reaches 1

hour late. what is the distance it must be travlled 

and what is the speed it must maintain to rech at

exact time?

ans: 120 miles and 24 mph

___________________________________________________________________________________

Question # 7

-------------

there are some stones (may be 6231) with eqaul

weight, but one of them having more weight than

others,how many times we need to weigh to find that

overweigheted stone?

ans: 12 ( as per the number given there, that no of

stones i didn`t remember exactly).

___________________________________________________________________________________

Question # 8

-------------

two and half artists with two and half canvases and

two in two and half hours cvan paint two and half

drawings. how many artists are needed for 24 canvases

and 24 drawings in 20 hours?

ans :

___________________________________________________________________________________
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___________________________________________________________________________________

Question # 1

-------------

There r 100 nations competing for a world-cup. 

The board decided to make Knock-out series.

How many matches to be played for deciding the world champion?

___________________________________________________________________________________

Question # 2

-------------

There is log weighing 30kgs. 

The log having twice thickness and twice short as first one will weigh howmuch ??

___________________________________________________________________________________

Question # 3

-------------

We have to find the number given some conditions like :

The sum of first two numbers is one less than the third digit

Third digit is 4 times that of last digit and some more conditions.....

Ans:16852

___________________________________________________________________________________

Question # 4

-------------

There r some families living in an appartment. 

We have to find the number of families based on given conditionms like :

    No couple r childless

    Number of children greater than number of families

    Number of boys > number of girls

    Each girl must have atleast one brother and atmost one sister and some cond...

___________________________________________________________________________________

Question # 5

-------------

Question on Tribes ? (Refer Barrons Book)

___________________________________________________________________________________

Question # 6

-------------

Hour and minutes hand were meeting after every 65 minutes. 

Does the clock lose or gain the time and by what amount it will gain or lose per hour?

___________________________________________________________________________________

Question # 7

-------------

There r two new systems A & B like celcius & faurenheit. 

18 degrees in system A is equal to 86 degrees in System B and 122 degrees 

in system A is equal to 46 degrees in system B. 

At what temperature both will equal? 

(Numeral r not correct but try this type of problem)

___________________________________________________________________________________

Question # 8

-------------

Playing card problem given some conditions we have to find the hidden color?

(Repeated Question)

___________________________________________________________________________________

Question # 9

-------------

Train problem?

___________________________________________________________________________________

Question # 10

-------------

We have to find out the one who overslept based on the given conditions?

Jack stood his watch, Beard overslept

Beard stood his watch,John overslept

John stood his watch, Beard overslept

( I am not sure abt the conditions try rhis type of question)
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I guess different papers to different ppl in same center.

___________________________________________________________________________________

PUZZLES

___________________________________________________________________________________

Question # 1

-------------

Each alphabet A,B.. Z is a constant.A=1,B=2,C=3^2,D=4^9 n so 

on.Each letter is assigned a value -the position of that letter 

raised to the value of preceding alphabet.(C = 3 ^B,D= 4 ^ C n so on)

Compute the numerical value of (X-A)(X-B)(X-C)....(X-Y)(X-Z).

___________________________________________________________________________________

Question # 2

-------------

Mr. T has a wrong weighing pan.One arm is lengthier than other.1 

kilogram on left balances 8 melons on right.1 kilogram on right 

balances 2 melons on left.If all melons are equal in weight,what is 

the weight of a single melon?

___________________________________________________________________________________

Question # 3

-------------

In a game of dice, 2 dice thrown at each turn.The score at each 

turn is taken as the product of number on 2  dices.there were five 

turns(rolls).second roll is 1 less than first n (like this ... the 

relationship between third n second,third n fourth,fourth n fifth ) 

were given.Find the score in first roll,second roll,third roll,fourth 

roll.(jus giving an idea abt question and don know the exact 

relationships).

___________________________________________________________________________________

Question # 4

-------------

PURPLE:these are always poisonous if red are.

YELLOW:six months in a year they are safe.

GREEN: always safe to consume if purple are poisonous.

RED:six months in a year poisonous.

The colors are colors of mushrooms available.AT this time 

which one is safe to consume?

___________________________________________________________________________________

Question # 5

-------------

5 letters A,B,C,D,E represent different digit given;

AB * CD = EEE and  CC = sumthing (i don remember). 

AB* D = ?

(get 2nd relation from other frnds)

___________________________________________________________________________________

Question # 6

-------------

  G: I am 22

     M = G + 2

     H = G - 1

  H: I am not the youngest.

      difference between M & H is 3

      G is 25.

  M: M is younger than G.

      G = 23.

      H = G+2.

      Mr.G,Mr.M,Mr.H made only one statement false.

Find the ages of all three.

(I am not sure abt the statements jus chk it out with others)

___________________________________________________________________________________

Question # 7

-------------

Tom sent some stamps to KIM and JOANE.

tom asked kim abt how much each of them got

kim replied 'Joane got three more than half of wat she got,if 

i had kept three more than half of wat she got.'

tom said'OK how much did u keep?"

Kim replied "jus 2 more than wat jone got!".

How many stamps did TOM send?

___________________________________________________________________________________

Question # 8

-------------

A cyclist got his tyre punctured when he had covered two third of 

the distance to be covered.Finishing on foot,He takes twice the time 

taken before to reach the destination.How fast does he ride than 

walking?

___________________________________________________________________________________

3 more problems were asked i don remember the questions correctly :

(the puzzle section lasted for 1 hour.)

___________________________________________________________________________________

ENGLISH:

Exercise 1: a passage was given n qs based on passge (5 qs)

Exercise 2: 5 questions.each question had 4 sentences to spot the 

incorrect sentence.

Exercise 3: conversation between father ans son (10 questions )-to 

fill in the blanks in the dialog or sentences with appropriate tense 

of the verb.(a multiple choice question)

Exercise 4: 5 questions -each question a sentence with 2 blanks .To 

find out the most appropriate word pair that fits in the sentence.

Exercise 5: 5 questions - each question had two sentences .2 differed 

in any 1 word.the words may be homophones/misspelt one.

Exercise 6: 5 questions - given a sentence with sosme phrase in 

it /directly a phrase .we have got to choose the meaning of the 

phrase from choices.

All together there were 50 qs in english.Remaining 15 i forgot.Will 

write u later in case i recollect.

If u find any q incomplete / wrong please verify it with other frnds.

___________________________________________________________________________________
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___________________________________________________________________________________

THERE WERE TOTALLY 10 PUZZLES 50MARKS 60 MINUTE

___________________________________________________________________________________

Question # 1

-------------

THERE R TWO PERSON EACH HAVING SAME AMOUNT OF MARBLES IN THE BEGINING 

AND 1st PERSON GAINS 20 MORE FROM THE SECOND PERSON AND HE EVENTUALLY 

LOSE TWO THIRDS OF IT DURING THE PLAY AND NOW THE SECOND PERSON HAS 

4TIMES MARBLES OF WHAT FIRST PERSON IS HAVING NOW.FIND HOW MUCH MARBLES DID 

EACH HAD IN THE BEGINING.

(3 MARKS)

ANS : 

40 MARBLES

___________________________________________________________________________________

Question # 2

-------------

THERE WERE TWO CLOCK ONE IS GETTING SLOW BY TWO MINUTES/HR AND 

ANOTHER ONE IS  GAINING 1 MINUTE EVERY HOUR AND EXACTLY AFTER HOW MANY HOURS 

THERE TWO CLOCK HAS A 1HR DIFFERENCE.

(4 MARKS)

ANS: 20HR

___________________________________________________________________________________

Question # 3

-------------

A TAXI DRIVER SUM FROM SAKUNTALA DEVI IT STATES THAT HIS CAB NUMBER 

IS DIVISIBLE BY THE NO 2,3,4,5,6 BUT IT GIVES A REMAINDER OF 1 AND WHEN 

THE NUMBER ISDIVIDED BY 11 IT DOES NOT GIVE ANY REMAINDER

(3MARKS)

ANS : 121

___________________________________________________________________________________

Question # 4

-------------

4 PERSONS ED,FRANK,GEORGE,HARRY BRING THEIR WIFE TO A  PARTY AND THEY 

EXCHANGE EACH OTHER WIFE WHILE DANCING

THEY GIVE CONDITIONS LIKE THIS BETTY IS DANCING WITH ED,DOROTHY DANCING 

WITH ALICE HUSBAND,ALICE DANCING WITH CAROLS HUSBAND,FRANK WAS DANCING 

WITH GEORGE'S WIFE

(8 MARKS)

ANSWER:

WIFES    MARRIEDTO     DANCING WITH

ALICE    GEORGE        FRANK 

BETTY    HARRY         ED

CAROL    FRANK         HARRY          

DOROTHY  ED            GEORGE

___________________________________________________________________________________

Question # 5

-------------

FOR ME I FEEL THIS SUM WAS A DIFFICULT ONE SO I DIDN'T SOLVE IT AND 

DON'T REMEMBER CORRECTLY

(5 MARKS)

___________________________________________________________________________________

Question # 6

-------------

AMY AND OTHER 4 SISTER EACH HAVE   DIFFERENT INTERESTS ONE STUDIES A 

DIFFERENT LANGUAGE(SPANISH) ONE LEARNS A DIFFERENT MUSIC 

INSTRUMENT(HARP) AND ANOTHER ONE HAS THE HABIT OF COLLECTING (OLD STAMPS)

U HAVE TO FIND EACH SISTERS INTERESTS WITH THE FOLLOWINF CLUES

1.ONE SISTER LEARNS RUSSIAN AND HAS THE HABIT OF COLLECTING OLD BUTTONS

2.ONE SISTER LEARNS GERMAN AND PLAYS FLUTE

3.ANNE COLLECTS COIN

4.ANDREA PLAYS VIOLIN BUT DOESNOT LEARN FRENCH.

5.ALICE LEARNS PIANO

6.THE GIRLS LEARINIG PIANO HAS THE HABIT OF COLLECTING BUTTERFLY

7.THEN ANGELA AND THE OTHER SISTER WHO HAS THE HABIT OF COLLECTING 

ROCKS GO OUT FOR SHOPPING.

DURING THAT PERIOD THE SISTER LEARNING PIANO STAYS INSIDE HOME AND 

OTHER ONE LEARINING FRENCH ALSO STAYS HOME 

AND ANOTHER SISTER LEARNING GUITAR ALSO STAYS HOME.

WITH ALL THESE CONDITION U HAVE TO FIND OUT THE FOLLOWING

NAME         AMY       ANNE     ANDREA      ALICE          ANGELA

INSTRUMENT

LANGUAGE

COLLECTION

TOTALLY THEY HAVE MENTIONED 4 LANGUAGES,5MUSIC INSTRUMENTS AND 5 

DIFFERENT HABITS.

(8MARKS)

___________________________________________________________________________________

Question # 7

-------------

I DIDN'T HAD A LOOK AT THIS PROBLEM 

(7 MARKS)

___________________________________________________________________________________

Question # 8

-------------

THERE IS A NUMBER WHICH WHEN ADDED WITH 33/4 GIVES THE  SAME ANS AS 

MULTIPLIED WITH 33/4.

(3 MARKS)

___________________________________________________________________________________

Question # 9

-------------

A MAN HAS 50 MANGOES AND PLACE THE 50 MANGOES LIKE THIS THE DISTANCE 

BETN 1AND 2 IS 1 YARD AND THE DISTANCE BETN.

2&3 IS 3YARD AND THE DISTANCE BETN. 3&4 IS 5YARD LIKE THIS HE INCREASES 

THE DISTANCE BETN . MANGOES IN STEPS OF TWO.

AFTER ARRANGING THEM LIKE THAT AND IF HE START PICKING THEM UP HOW MUCH 

YARD HE HAS TO WALK.

(5 MARKS)

ANS: 2401

___________________________________________________________________________________

Question # 10

-------------

A MAN SAYS THAT HE GAINED 10 PERCENT AS PROFIT IN SELLING A SUITABLE 

CLOTH MATERIAL.HE SAYS IF HE HAD PURCHASED

THE SAME ONE 10 PERCENT CHEAPER THAN IT WAS ACTUAL AND IF HE HAD SOLD 

IT FOR 20% PROFIT HE GETS 25PAISE LESS.

FIND AT WHAT PRICE HE SELLED THE SUIT.

ANS: Rs 12.50

___________________________________________________________________________________

THE VERBAL TEST WAS EASY ONE 45Q's 35 MINUTES

I THINK IF U GO THRO R.S.AGGARWAL FOR ENGLISH IT WILL HELP U.

___________________________________________________________________________________
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___________________________________________________________________________________

___________________________________________________________________________________

Question # 1

-------------

Harry & john have equal no of marbles..then harry gets +20 in the game

but looses 2/3rd of it by the end of game..how many each had...

___________________________________________________________________________________

Question # 2

-------------

shankuntala devis taxi driver problem..no divisible by 11.

Ans ;121

___________________________________________________________________________________

Question # 3,4

---------------

were logical questions gre pattern but not that easy..

___________________________________________________________________________________

Question # 5

-------------

cow & bridge problem,,dont remember

___________________________________________________________________________________

Question # 6

-------------

x.some fraction =x+ same fraction..easy ans i think its 33/29..

___________________________________________________________________________________

Question # 7

-------------

dont remember completely..have to find the house nos..logically

___________________________________________________________________________________

Question # 8

-------------

some profit &loss problem ..

___________________________________________________________________________________

Question # 9

-------------

a clock is 1mt slow..another is 2 mts fast afterwards faster

clock is 1 hr ahead,,, whats the time?3mts difference..60/3=ans 20 hrs..

___________________________________________________________________________________

Question # 10

-------------

arithmetic progession pro..potatoes palced at a difference of

2 yards each 1,3,5 etc..50 r placed like this..think its arithmetic

progession..so a(n-1)..so 2(50-1)=98..check ok...

___________________________________________________________________________________
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INFOSYS TEST - 6th JULY, CHENNAI, AFTERNOON

___________________________________________________________________________________

Question # 1

-------------

i participated in a race.1/5th of those who are before me are 

equal to 5/6th of those behind me.what were the total number of 

contestants in the race?

(3 Marks)

___________________________________________________________________________________

Question # 2

-------------

Find the 3 digit number.Third digit is square root of first 

digit.Second digit is sum of first and third digits.Find the 

number

(3 Marks)

___________________________________________________________________________________

Question # 3

-------------

This problem is of time and work type.i dont remember the exact 

question.the question goes like this.some A and some B are able to 

produce so many tors in so many hours.(for example 10 A and 20 B 

are able to produce 30 tors per hour).Like this one more sentence 

was given.We have to find out the rate of working of A and B in 

tors/hour.

(4 Marks)

___________________________________________________________________________________

Question # 4

-------------

A and B play a game of dice between them.The dice consists of 

colours on their faces instead of numbers.

A wins if both dice show same color.

B wins if both dice show different colors.

one dice consists of 1 red and 5 blue.

what must be the color in the faces of other dice.(i.e how many 

blue and how many red?).

Chances of winning for A and B are even.

(5 Marks)

___________________________________________________________________________________

Question # 5

-------------

A girl has 55 marbles.she arranges them in n rows.the nth row 

consists of n marbles,the n-1th row consists of n-1 marbles and so 

on.what are the number of marbles in nth row?

(3 Marks)

___________________________________________________________________________________

Question # 6

-------------

This question is of anals type.

The question goes like this. I dont remember the question.

some sentences reg tastes of people to poetry are given like

all who like A's Poem like the poems of B

like this 7 or 8 sentences were given

questions were based on this.

(8 Marks)

___________________________________________________________________________________

Question # 7

-------------

This question is also of anals types.

Four persons are there A,B,C,D.each of the for persons own either 

P,Q,R,S.

10 sentences using if clause were given.

we have to find out which belongs to whom.

(8 Marks)

___________________________________________________________________________________

Question # 8

-------------

This question involves oercentage.i dont remember the 

question.

(5 Marks)

___________________________________________________________________________________

Question # 9

-------------

problems on ages.

(6 Marks)

___________________________________________________________________________________

Question # 10

-------------

Problmes on time and distance.

(5 Marks)

___________________________________________________________________________________
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___________________________________________________________________________________

___________________________________________________________________________________

Question # 1

-------------

A man is going to a wedding party. He travels for 2hrs when he gets a puncture. 

Changing tyres takes 10mins. The rest of the journey he travels at 30 miles/hr. 

He reaches 30mins behind schedule. He thinks to himself that if the puncture 

had occurred 30miles later, he would have been only 15mins late. 

Find the total distance traveled by the man

___________________________________________________________________________________

Question # 2

-------------

A car is traveling at a uniform speed. The driver sees a milestone showing a 

2-digit number. 

After traveling for an  hour the driver sees another milestone with the same digits 

in reverse order. After another hour the driver sees another milestone containing 

the same two digits separated by a zero. What is the average speed of the driver? 

Ans : 

45 kmph

___________________________________________________________________________________

Question # 3

-------------

There are 3 societies A, B, C. 

A lent cars to B and C as many as they had already.

After some time B gave as many tractors to A and C 

as many as they have.  After sometime c did the same thing. 

At the end of this transaction each one of them had 24. 

Find the cars each orginally had. 

Ans: 

A had 39 cars, B had 21 cars & C had 12 cars

___________________________________________________________________________________

Question # 4

-------------

Alpha, Beta Gamma, Delta and Epilson had birthhdays consecutively. 

Delta was older than Epilson by 2 days. 

The difference in the number of days between Alpha and Gamma was equal to Beta and Delta. 

(Alpha was older than Gamma). 

Gamma's birthday was on a Wednesday. 

Find on which day the others have their birthdate.

___________________________________________________________________________________

Question # 5

-------------

Adding 1/4 of the time from midnight to the present time, to 1/2 of the time 

from present until midnight, gives the present time. what is the present time. 

Ans :

9.36 plz check

___________________________________________________________________________________

Question # 6

-------------

Passage followed by 4 questions (passage on some men being lean, tall, muscular, fair, rich, employed)

___________________________________________________________________________________

Question # 7

-------------

Another complex question

___________________________________________________________________________________

Question # 8

-------------

Find length and colour of serpent

if not green or 35m long, then it is 55m long

if not black or 45m long, then it is brown

if not black or 35m long, then it is 55m long

___________________________________________________________________________________

Question # 9

-------------

Three man A,B,C went in three direction and had stolen a mule, a horse and a camel 

they ware caught by C.B.I and arrested . During their interrogation they gave the 

following statements. 

A: B had stolen a horse 

B: A and C are both lying and I had stolen nothing. 

C: A is lying and B had stolen a mule 

One who had stolen a camel is telling lie and one who had stolen a horse is telling truth. Among A,B,C who had stolen which animal ? 

ans : 

A-Camel, 

B-Mule, 

C-Horse

___________________________________________________________________________________
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-----Original Message-----

From: sandeep raja 

Sent: Monday, September 01, 2003 11:36 PM

To: chetana-jobs@yahoogroups.com

Subject: [CHETANA] (PAPER) infosys-29th august,cochin

Infosys paper--29/08/03 at cochin(shreds) :

1. A man was travelling to a place 30 miles away from starting point. he was speeding at 60 miles/hr. but when he came back, his car got breakdown and half an hour was wasted in reparing that. altogether he took 1 hr for return journey. Find the avg. speed of the whole journey.

2.I'M NOT VERY SURE REGARDING THIS QUESTION. 

 A detective was assigned to generate a code using 4 digits, so that no one could break it. he knew that if the code starts with 0,5 or 7 it will be cracked. so how many numbers can be formed using 4 digits.

3. A cow was standing on a bridge, 5feet away from the middle of the bridge. suddenly a lightning express with 90 miles/hr was coming towards the bridge from nearest end of the cow.seeeing this the cow ran towards the express and managed to escape when the train is one feet away from the bridge. if it would have ran to opposite direction(ie away from train) it would have been hit the train one ft away from the end of the bridge. Calculate the length of bridge.

4. there are 3 towns attacked by 3 dragons-x,y,z. Number of days x attack a town is equal to number of days y attacking another town. Number of days x attack is equal to half the square root of number of days z attacking a town.number of days y attacking the town is twice the square root of z.calculate how much days the curse of each dragon be.

5. 5 Boys and 5 Girls went for a movie. the problem is based on their seating. analytical one and 3 or 5 sub questions were there on this question  simple one.

6. A town have a population of 500000 and 42% of males and 28% of females are married to same town. find the total number of males

7. An analytical one based on 4 persons and their occupation

8. another analytical one 

9. A and B came back home after their exam and their father asked them about the test.

 A replied-- 1/3rd of my answers were wrong

 B replied-- 5 of my answers were wrong but together we got 3/4 of answers right. How many questions were there for the exam?

10. if x,y<0 and z>xy then which condition is false

 4 conditions were given and one condition is wrong. you need to identify that.
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From: Ganesh S 

Sent: Tuesday, August 26, 2003 8:51 AM

To: CHETANA-JOBS@yahoogroups.com

Subject: [CHETANA] (PAPER) INFOSYS QUESTIONS - 24 - AUG- 2003.

Hi all,

This is Ganesh. I attend the Infosys written test on 24th august 2003.

I here attached the questions that i faced in the test. These ques are relatively easier compared  to other infosys questions. the names that were given here is little bit different. but the logic behind all questions is correct to my knowledge. 

 SO THOSE WHO GOT THE ANSWERS Mail to this group. LETS HAVE A GOOD DISCUSSION regarding the answers for these questions.

 Totally 9 Questions.   - 50 marks.

1)  There is a five digit number.

 The fifth digit is one fourth of the third digit and

 one half of the fourth digit. Third digit is one half of the first digit.

 second digit is 5 more than the fifth digit.

 What is that 5 digit no.? 

2) There are three associates and they have some money in a room. 

 But no one is believing others alone. so,

 a) No one should be able to open the room alone.

 b) When any 2 persons are combined they should be able to open the room.

 What is the minimun no. of locks & keys required.?  (5M)

3)  A simple racing prob. like Samantha beat Jim. Jack lost to Jim. John was not last.

 And the prob goes like this... (simple)  

4) A boy goes to school from his house.on one fourth oh his way to school, he crosses a

 machinery station. And on one third of his way to school, he crosses a Railway station.

 He crossed the machinery station at 7:30 and he crosses the Railway station at 7:35.

 when does he leave the house & when does he reach the school ? (5M)

5) An Eraser,Pencil,Notebook together costs $1.00. Notebook costs more than the cost of 

 2 Pencils. 3 Pencil costs more than 4 Erasers. 3 Erasers costs more than a Notebook.

 How much does a pencil costs? (5M)

6) I can't remember the prob. fully. (* Check this in previous questions. Its there!)

 Old Problem with three inhabitants of three castes. Abhor,Magar & Dravid. (8M)

 1) Abhor women cannot marry Dravid man. 

 2) Dravid women cannot marry Magar man.

 3) Male child gets the father's caste and female child gets the mother's caste.

 4) all other marriages are allowed.

 5) ...

 4 questions related with this...each of 2 marks... like... 

 1) A magar man can have ...

     a) a dravid grandmother. 

   b) a abhor mother.

   c).... 

7) Series... 

 a) 3,6,13,26,33,66, ?

 b) 364, 361, 19, 16, 4, 1, ?

8) A large cube is painted on all sides with Red color. It is then cut into 27 small cubes. 

 How many sides of the cube will have...

 a) 3 red faces.

 b) 2 red faces.

 c) 1 red face.

 d) No red faces. (8M)

9) Four persons A,B,C,D were there. All were of different weights. All Four gave a 

 statement.Among the four statements only the person who is lightest in weight of all 

 others gave a true statement.

 A Says : B is heavier than D.

 B Says : A is heavier than C.

 C Says : I am heavier than D.

 D Says : C is heavier than B.

 Find the lightest & List the persons in ascending order according to their weights. (5M)

i gave all those that i know. So, Please no Queries regarding this. 

ONE THING I FORGOT TO TELL....

DONT SEND ME ANY RESUMES...PLS..

"ALL THE BEST" to All of our chetana family.

And Ofcourse Thanks to Chetana and CHETANA family members...

With Heartstrings...

     - Ganesh.S 
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-----Original Message-----

From: ranjith kumar 

Sent: Monday, August 25, 2003 1:15 PM

To: CHETANA-JOBS@yahoogroups.com

Subject: [CHETANA] (Paper) Infosys test held last Saturday

Hai everyone,

     I just took up infosys exam last saturday.

     This was 1 hour test.

      Aptitude - 20 questions.

      Technical -20 questions.

     apptitude was very easy

     1.A alone can do a work in 6 days B alone can do 

       in 8 days with help of c they finished the work

       in 3 days.If the agreed sum is 640 what is the

        share of c.(refer r.s agarwal)

     2.A drives a car four times a lap 10,20 30,60 

       kmph what is the average speed.

     3.speed of boat in still water 10 km,if speed up 

       stream is 24 km and speed down stream is 16

       what is speed of the river.

     4.If grand father age is sum all the three 

        grand childern whos age r in equal interval

        what is the age of the grand father?

             (refer r.s agarwal)

      5.In a grass field if 40 cow could eat for 40 

        days.The same grass field can feed 30 cows for

        60 days.how long will it feed 20 cows?

      That what i remember.........

      Technical was like

         some questions in c 

              gave program and asked for output.

        some was in binary tree

         sorting (heap sort algorith etc)

        most in data structures.

       sorry i could remember more.

      U can go with any id card no need of passport.

      If any one get call letter all the best

      its easy to clear......

      technical interview and hr at same time next day

      After the exam if u clear.

        "All the best".
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___________________________________________________________________________________

Infosys ::

___________________________________________________________________________________

Question # 1

-------------

if alphabets are given position values according to their arrangement, for 

example A=1, and B=it's position to the power of previous alphabet's value. 

i.e., b= 2 1=2. c = 32, d= 4c. 

Then find the value of (X-A)(X-b).....(X-y)(X-z)?

___________________________________________________________________________________

Question # 2

-------------

Two dice are rolled. If the score is calculated as a product of the number 

appeared. The score for the second role is six more than that of the 1st roal, 

the score for 3rd roll is 6 less than the 2nd roll, the score for 4 th role is 11 

more than the 3rd roll, the score on 5th role is five more than the 4th roll. Find 

the scores of 1,2,3,4 rolls

___________________________________________________________________________________

Question # 3

-------------

A person traveled ¾ th of a distance by riding horse. He traveled remaining 

distance by walk. If he took twice the time to walk as he rode, howmany  

times he rode faster than he walked?

___________________________________________________________________________________

Question # 4

-------------

There are diff color mushrooms

A) only and always purple is poisonous when red are

B) green is safe for 6 months

c) yellow is safe when purple are poisonous

d) red is safe for 6 months.

Which coloured mushroom is safe at this time of year?

___________________________________________________________________________________

Question # 5

-------------

The below are the statements of 3 persons. If the person's speak only two of 

the three statements correctly, what are their ages?

A: 

     A is 22.

     B is 1 yr more than A.

     C is 1 yr less than A.

B:

    I am not the youngest.

    There is 3 yrs difference between me and C.

    C is 25.

C:

    A is 23

    B > A

___________________________________________________________________________________

Question # 6

-------------

A,B,C,D,E wore shirts of colours red,blue,green, yellow and orange 

respectively.  They stood on a ladder. Yellow is not the colour at the tail end 

of the ladder. Yellow is between those who wore green and red. Green is 

between those who wore yellow and orange and who is behind blue. Which 

color is at the end of the ladder?

___________________________________________________________________________________

Question # 7

-------------

In  a business, A invested 31/2 times more than B.They wanted to include C 

by taking an amount of Rs2500 from C. How should tha amount be divided 

among A and B such that three of them get the same interest?

___________________________________________________________________________________

Question # 8

-------------

One of the arms of a balance is longer than the other. If 1kg is kept on the 

left pan,it is equal to 8 water melons. If the 1kg is kept on a a right pan, it is 

equal to 2 water melons on right. If the weight of all the watermelons are 

sam, what is the weight of the water melon?

___________________________________________________________________________________

Question # 9

-------------

A person has a son. His son's age is fivew times his daughter's age. His 

wife's age is 5 times his  son's age. His age is twice his wife's age. The total 

of all this ages is equal to his son's grandma's age who celebrated her 81st 

birthday this year. What is his son's age?

___________________________________________________________________________________

Question # 10

-------------

Tom has given some stamps to A. He asked A about them. A said " They 

were great. B got 3 more than ½ of what she would have got if I kept 3 more 

than ½ of what she got.

Tom asked A "How much did u keep?"

A answered "two more than what I gave B".

Find the total no of stamps Tom gave A.?

___________________________________________________________________________________
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Question # 1

-------------

Professor Kittredge’s literature seminar includes students with varied tastes 

in poetry.All those in the seminar who enjoy the poetry of browing also enjoy 

the poetry of eliot.Those who enjoy the poetry of eliot despise the poetry of coleridge.

Some of those who enjoy the poetry of eliot also enjoy the poetry of Auden.

All of those who enjoy the poetry of Coleridge also enjoy the poetry of Donne.

Some of those who enjoy the poetry of Auden also despise the poetry of Coleridge.

All of those who enjoy the poetry of Donne also enjoy the poetry of Frost.

i.

Miss Garfield enjoys the poetry of Donne.Which of the following must be true?

(A)
she may or may not enjoy the poetry of coleridge.

(B)
She does not enjoy the poetry of Browing.

(C)
She does not enjoy the poetry of eliot.

(D)
She enjoys the poetry of Coleridge.

ii. 

Mr.Huxtable enjoys the poetry of Browing.He may also enjoy any of the following 

poets except

(A)
Auden.

(B)
Coleridge

(C)
Donne

(D)
Eliot

(E)
Frost

iii.

Miss Inaguchi enjoys the poetry of Coleridge.Which of the following must be false?

(A)
she does not enjoy the poetry of Auden.

(B)
She enjoys the poetry of Donne.

(C)
She enjoys the poetry of Frost.

(D)
She does not enjoy the poetry of Browning.

(E)
She may enjoy the poetry of Eliot.

iv. 

Based on the information provided,which of the following statements concerning 

the members of the seminar must be true?

(A)
All the those who enjoy the poetry of eliot also enjoy the poetry of Browning.

(B)
None of those who despise the poetry of Frost enjoy the poetry of Auden.

(C)
Some of those who enjoy the poetry of Auden despise the poetry of Coleridge.

(D)
None of those who enjoy the poetry of Browning despise the poetry of Donne.

(E)
Some of those who enjoys the poetry of Frost despise the poetry of Donne.  

(8 Marks)

___________________________________________________________________________________

Question # 2

-------------                                                                                                      

a.Rimmie wears a hat only if goerge wears a tie.

b.George wears a scarf only if Johnie wears a tie.

c.Vickie wears a googles only if Rimmie wears a hat.

d,e,f,g,h

some what like this there are 8 statements,from that we have to determine who wears what.

(8 marks)

___________________________________________________________________________________

Question # 3

-------------

8 Kigs and 14 Ligs can do 510 tors of work in10days. 13 Kigs and 6 Ligs 

can do 484 tors of work in 12 days. 

Then find work done by Kigs and Ligs individually in tors/hr?

(5Marks)

___________________________________________________________________________________

Question # 4

-------------

There is a 3 digited number. 3rd number is the square root of the 1st digit. 

2nd digit is the sum of 1st and 3rd.And that number is divisible by 2,3,6,7.

What is that number?

(3 marks)

___________________________________________________________________________________

Question # 5

-------------

A boy is playing a game. He took totally 55 blocks and kept like placing 

some x number  on the ground,next one less than that  above those blocks 

like that till the topmost one is one,like:


 x


x x

       x x x

      x x x x                   

     x x x x x 

    x x x x x x

   x x x x x x x

  x x x x x x x x 

 x x x x x x x x x

x x x x x x x x x x

(They didn’t gave this pictuire,but my explanation is not clear,that’s I gave u this picture)

the question is how many blocks are there at the base level?

(4marks)

___________________________________________________________________________________

Question # 6

-------------

A cyclist is cycling in a circular path.he is at some point on the path,at that 

point 1/5th of the cyclists infront of him and 5/6th back to him gives the total 

number of clyclists participating in the race. What is the total number of cyclists?

(5 marks)

___________________________________________________________________________________

Question # 7

-------------

Regarding ages he gave 6-7some what confusing statements regarding 

3 people’s age.but time time is not sufficient ,so didn’t read that question.

(5 Marks)

___________________________________________________________________________________

Question # 8

-------------

A boy is at 250yards south to the hare.the hare is running towards east.

Instead of going in North-east direction .if the follows the hare with 

1 and 1/3rd (1+1/3)the speed of hare,what is the total distance travelled 

by him to overcome the hare?

And what is the distance traveled by hare before the boy overcomes it?

(6 Marks)

___________________________________________________________________________________

Question # 9

-------------

There are two dice painted on their sides.A and B are playing with those dice.

A will win if  the colour on the two faces of dice is same and b wins if color 

is different.

First die is painted 5faces with red and 1 with blue.how is second die painted,

if their chances of winning the game is even.

(6 Marks)

___________________________________________________________________________________

Question # 10

-------------

A manager declared like this in the meeting. Normally we give 6% interest 

on common stock,but the total income this time is Rs 400000 with 7 1/2 interest,

we are giving only 5%interest on common stock.

What is the worth of Comon stock? 

(5marks)

___________________________________________________________________________________
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___________________________________________________________________________________

ENGLISH SECTION:

1.Reading comprehension = 5 questions 

2.correction of sentencs=5

3.correct verb completion in the senteces=10

4.spellings

5.sentecnes(exact meanings that match the sentence)

And there are 2 other sections in English .

___________________________________________________________________________________

Questions For Infosys on 11 may 2003 :

___________________________________________________________________________________

Question # 1

-------------

A Couple decided to travel a north country side .so they decide to travel

a minimum amount on car the first day and the second and sbsequent day 

a distance of 20 miles .If they travel a total amount of 1080 miles.Find 

he distance travlled on the  4th day and the 9 day.

___________________________________________________________________________________

Question # 2

-------------

A card boarb of 34 * 14 has to be attached to a wooden box and a total

of 35 pins are to be used on the each side of the cardbox.Find the total

number of pins used .

___________________________________________________________________________________

Question # 3

-------------

During a Pizza buffet where A eats more times 2.4 than B, and B eats 6 times

less than C.find the leat number of times all the three has to eat.

___________________________________________________________________________________

Question # 4

-------------

Last Year mu cousin came to my place and we played a game where the 

loosing one has to give one choclate to the person who won the game .At the 

end of the vacation,i.e the day my cousin was leaving she counted number of

games that i won an she won.At last she gave me a total of 8 choclates even 

though she won about 12 games.Find the mumber of games that we played.

___________________________________________________________________________________

Question # 5

-------------

Amir,shahrukh,sunil and salman were quarelling among them saying ecan ones daughter 

madhuri,rani,junhi.manisha is more beautiful than other .so they decide to have a poll.

each one has 5 votes to be distributed among the 4 and highest vote that can be given 

is 3 and the of votes are different from rest

(if salman gives votes like 2,2,1.0 ,this cant repeat with others).

The other restrictions are :

salman decided that it will be prudence to share equal marks between all the freinds daughters.

sunil gives Highest vote to his daughter rani.

amir gives equal marks to Manisha and juhi.

shahrukh doesnt give any marks to his daughter as he thinks his daughter is haughty enough for 

other to vote .

Give the votes poled by others to Madhuri.

___________________________________________________________________________________
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___________________________________________________________________________________

___________________________________________________________________________________

Question # 1

-------------

A car is traveling at a uniform speed. The driver

sees a milestone showing a 2-digit number. After

traveling for an hour the driver sees another

milestone with the same digits in reverse order. After

another hour the driver sees another milestone

containing the same two digits with a zero in

between(0). What is the average speed of the driver.

Ans: 

45 kmph                                

___________________________________________________________________________________

Question # 2

-------------

Mr. ANYMAN left ANYTOWN by car to attend a wedding

at ANYCITY. He had been driving for exactly two hours

when the car got punctured. It took his driver exactly

ten minutes to change the wheel. In order to play safe

they covered the remaining distance at a speed of 30

mph. consequently, Mr. ANYMAN was at wedding half an-

hour behind schedule. Had the car got the puncture

only 30 miles later , I would have been only FIFTEEN

minutes late he told the driver . How Far is ANYCITY

from ANYTOWN.

Ans: 

120 miles

___________________________________________________________________________________

Question # 3

-------------

There are three persons A,B,C. one day they set out

in different directions and each one steals an animal.

The animals are camel, horse and a mule though not in

the order. A CBI officer catches them and on

interrogation he has the following statements:

A says: B has stolen a horse

C says: A is telling wrong, B has stolen a mule.

B says: A and C are both telling wrong. I have stolen nothing.

The person stealing a camel tells wrong while the

person with a horse tells right. So tell which person

steal which animal.   

Ans: 

A: Camel   

B: Mule   

c: Horse

___________________________________________________________________________________

Question # 4

-------------

There are 3 societies A, B, C.   A Lent Tractors

to B and C as many as they had already. After some

time B gave as many tractors to A and C as many as

they have.  After sometime C did the same thing. At

the end of this transaction each one of them had 24.

Find the cars each originally had.  This question was

bit differently asked  with the same thing.

Ans: 

A had 39 cars, 

B had 21 cars 

C had 12 cars     

___________________________________________________________________________________

Question # 5

-------------

Alpha, Beta , gamma, delta and epsilon are friends

and have birthdays on consecutive days though may not

be in order. Gamma is as many days old to Alpha  as

Beta is younger to Epsilon. Delta is two days older

then Epsilon. Gamma’s Birthday is on Wednesday. Tell

whose birthday is when.

Ans:  

Alpha:   Friday   

Beta :   Saturday   

Gamma:   Wednesday   

Delta:   Tuesday 

Epsilon: Thursday

___________________________________________________________________________________

Question # 6

-------------

The quarter of the time from midnight to present

time added to the half of the time from the present to

midnight gives the present time. What is the present

time?

Ans: 

9hrs past 36 minutes AM

___________________________________________________________________________________

Question # 7

-------------

A girl was on a vacation when she happened to

notice a snake. The snake was either black, brown or

yellow in colour and 35, 45 or 55 m long. She makes

the following remarks:

Don’t remember exactly but the answer I wrote was 55 m

and brown colour snake.

___________________________________________________________________________________

The remaining two questions were logical and lengthy .

I could not get time. Anyways one was relating to six

persons are from six places and professions are given. 

u have to match each person along with the profession 

and his place.

And one question was relating to various

characteristics such as a tall men, lean men, muscular

men, rich man, employed , fair skinned and not fair

skin. The relation between the various characteristics

are given and based on that u are to find answers to a

subset of question such as

A: if the unfair men  is muscular whether he is

employed or not.

Like this 4 questions are there. And options are

given. U are to tick the answer which can be derived

from above relationships.

___________________________________________________________________________________

The English section was pretty easy:

A reading comprehension , followed by some fill up the

blanks, the again a fill in the blanks of a passage

with the correct tense of the word. And then few find

the correct match and spot the error questions. 

This is all I could remember. 
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___________________________________________________________________________________

INFOSYS QUESTIONS

___________________________________________________________________________________

Question # 1

-------------

Analytical question. 

6 poets, liking and disliking of poetry.

E.g.: All who like the poetry of Frost do not like 

the poetry of Coolidge. Some who like the poetry 

of Dunne like the poetry of Earl. 

4 related questions are given on these conditions.  

___________________________________________________________________________________

Question # 2

-------------

Analytical question. 

4 people, 4 products. 

E.g.: Vickie will not get a tie unless George buys a scarf.

Remmie will not get a hat unless Jack buys gloves. 

Around 12 statements like this. 

Who will buy what? 

___________________________________________________________________________________

Question # 3

-------------

13 kigs and 6 libs can produce 510 tors in 10 hrs,

8 kigs and 14 libs can produce 484 tors in 12 hrs.

Find the rate of production of tors for kigs and libs.

Express the answer in tors/hr. 

___________________________________________________________________________________

Question # 4

-------------

Find the 3 digit no. whose last digit is the square

root of the first digit and second digit is the sum of

the other two digits.  

___________________________________________________________________________________

Question # 5

-------------

Meera was playing with her brother using 55 blocks.

She gets bored playing and starts arranging the blocks

such that the no. of blocks in each row is one less

than that in the lower row. Find how many were there

in the bottom most row?

___________________________________________________________________________________

Question # 6

-------------

Rahul took part in a cycling game with many others

in a circular closed circuit. After pedaling for

several minutes, he found that 1/5th of the cyclists

ahead of him and 5/6th of the cyclists behind him

together formed the total no. of participants. How

many were participating in the race?

___________________________________________________________________________________

Question # 7

-------------

Age sum involving 3 people. Similar to sum no. 127

in Shakuntala Devi but very much tougher than that

sum.

___________________________________________________________________________________

Question # 8

-------------

Tom wants to catch a hare. He is standing 250 yards

south from the hare. The hare starts moving due east.

Tom, instead of moving in the northeast direction,

moves in such a way that at every instant, he is going

towards the hare. If speed of tom is one and one-third

times that of the hare, find the distance each

traveled before he caught the hare.

___________________________________________________________________________________

Question # 9

-------------

Two people are playing with a pair of dies. Instead

of numbers, the dies have different colors on their

sides. The first person wins if the same color appears

on both the dies and the second person wins if the

colors are different. The odds of their winning are

equal. If the first dice has 5 red sides and 1 blue

side, find the color(s) on the second one.

___________________________________________________________________________________

Question # 10

-------------

A company's director said during the board

meeting: " The company's income from roads will be

sufficient to pay 6% of the entire stock issue, but

since we are paying 7.5% interest on the preferred

stock of Rs.4, 000,000 we are able to pay only 5% of

the common stock". Find the value of the common stock.

___________________________________________________________________________________

